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836 U���	����� 	�
�� �� b	`���b`	 
�b���b�
� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 6:

837 Vb`����� 
��a� 
�b���b�
� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 6<

838 S���b�
	�� �� �2VQRP 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 6>

83836 W�
 �		�
��`���� `�� �`��2��b����� 3 3 3 3 3 3 3 3 3 3 3 3 78

83837 E`b������� ��

������� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 7:

83838 S�����2���������� ���������
����b ����b���� 3 3 3 3 3 3 3 7<

83839 V�������b �
��b`	 ��	���`
�� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 7>

8383: I������ ��`�����
 ����`��� �`��2�
�b����b�
� 3 3 3 3 3 3 3 88

839 H�
���
���`	 ����
 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 8<

83: P���	� �� ��
2�`

	� ��`�2(�	� �����`b���� 3 3 3 3 3 3 3 3 3 3 3 3 8>

83:36 S����2��
�	� 
���	 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 95

83:37 I����� ��
�	� 
���	 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 98

83:38 I����� ��
�	� 
���	 ��� 	`����� �`

	�� 3 3 3 3 3 3 3 3 3 3 99
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936 L������b���� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 9<

937 W�
 �`a��b`���� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 9>

938 W�
 b�`�`b�����`���� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 :6

93836 J�`
���� �
	��2�`�� ��`�2(�	� ����b��� 3 3 3 3 3 3 3 3 3 3 :6

93837 W��� �� 
�b�`��b`	 
��
������ `�� WK� �`��2��b�����

b`
`a�	����� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 :8

93838 Y���(b`���� �� `�����` �����`�b�� 3 3 3 3 3 3 3 3 3 3 3 3 3 :;

93839 F	`���b`	 UI `�����` ������ 
���	 3 3 3 3 3 3 3 3 3 3 3 3 ;7

939 V�

`�� `�� b��b	����� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ;;
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:36 L������b���� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ;<

:37 H�
���
���`	 ����
 `�� �`

	� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 ;>

:38 �2VQRP �
`���� �� ����	����� ���� �`

	� 3 3 3 3 3 3 3 3 3 3 3 3 <5

:39 X	��`2��`�
1 ILE �`a��b`��� ��
� ��� : �
 ����	����� 3 3 3 3 3 3 3 <9

:3: Q�
���b`		� ��
�	`���� 	��� 
��(	�� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 <<

:3; V�

`�� `�� b��b	����� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 =5
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;36 L������b���� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 =7

;37 V`

	� ���b��
���� `�� ��
���
���`	 ����	�� 3 3 3 3 3 3 3 3 3 3 3 =8

;38 W����� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 =;

;3836 W�`��
������ `�� ��`���� ��b����b� IWLU �`�2(�	� �
�b��` =;

;3837 Q�`�2(�	� �
�b��` �� �	��`2���� `�� ���b� ���`��b (	
� 3 =>

;39 V�

`�� `�� b��b	����� 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 >8
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O` 
�b���b�
�` � ��
�b����b�
�` b	���b`� ��� ��b��b`� �� b`�`b�����`b�!� ����`2


���`	�� �� b���b�` � ��b��	���` �� ���`� ������`� b�
� 	` a��	���`1 	` ���
�b`1

	` �	�b��!��b` � 	` b���b�` �� 
`����`	�� ^6�9_3 H� b��b����1 	�� 
������ ��2


�b����b!
�b�� ` ���b���b�`� b�����
��������� ` 	` �`��`b�!� ����`����` .LU1

	��������� �� ���` λ ≈ 3− 30 µm/ � �� ���`���b��� .WK�1 λ ≈ 30− 300 µm/

�� ���	��`� 
`�` �	 `��	���� �� 	` `a���b�!� �� 
�	�b�	`�1 �� ��a�`b����� �� �����

b����`	��`� � �� ���!
���� �� b����bb�!�1 b�� 	`� ��� 
���� ����`���� �����
`2

b�!� ��	`���` ` b�

���b�!� ���
�b`1 � 
��
���`��� �����b���`	�� � �	�b��!��b`�

^61 :�=_3 V�� �
a`���1 �� 	�� ������
����� !
��b�� b�����b���`	�� ��a��� ` 	`

����`bb�!� �� 	` 	��1 	` ����	�b�!� ��
`b�`	 ���� 	�
��`�` ` 	��������� ��
�	`���

` 	` 	������� �� ���` ��b������ ^71 >�66_3 S�� �`���1 
`�` 	` �`��`b�!� LU 	`

����	�b�!� �� 	�
��` ` ��`� ��b��`� �� 
�b�`� � 
`�` 	` ����!� ��	 WK� ` ����

b������ �� 
�b�`�3 H��� 	�
��� �� 	` ����	�b�!� �

��� 	` ��������`b�!� ���`		`�`

�� ������ 
`����`	��1 b�

������ � ���
�������� b��` �����b���` � ���`���`b�!�

���� �� �	 �`��� �� 	�� �`�!
����� ^67�69_3 S�� ���� 
�����1 ������ ��` ��`�

��
`��` �� ����`� ����`
����`� ��
�b����b!
�b`� �� �	 �`��� LU � �� WK� b��

����	�b�!� �`��
����b` �`��� �� ��������`b�!�1 ��������` � ��b	��� �� �	 b�����	

�� b`	��`�3 ^6:�76_3

X�` ��b��b` �� 
�b���b�
�` !
��b` a��� ���`a	�b��` ��� 
��
��� ��
��`� �	

	�
��� �� ����`bb�!� �� �	 
�b���b�
�� !
��b� �� a`����� �� b`

� b��b`�� ��

��
� ���
������1 �2VQRP .��	 ���	�� �b`������� ��
� �b`����� �
��b`	 ��`� (�	�


�b���b�
�/ ^77�79_1 b��` ����	�b�!� �`��
����b` �� ����
�������� �� 	` 	��2

����� �� ���` �`��� �� �	 �`��� ��	 ����a	� ^661 771 7:�7=_1 ��	 LU ^7<1 7>�87_

b�
� �� 	` ����!� ��	 WK� ^88�8=_3 H� �	 �2VQRP ��` ���` b������` �� ��

�`� �� 	���� �� ��b`	��`�� �� ��` 
���` �� 
���	�b` �� �� 
�b���b�
�� �� �����`

`�!
�b` .DIP/3 O` 
���` � ��
 `b�$` b�
� ��` `����` � b��b����` 	` �	�
�2

�`b�!� �� �	 �����
� �� 	` 
���` �� �� ��b� �� �`
`�� ��
�	`� `	 ���
����

��	 �����
� �� 	` 
���`1 ���
`	
���� `	������� �� 	�� 75�
 ^8>1 95_3 S��

���� 	`��1 b�`��� �	 ��
 �� b�	�b` 
�� b��b` � �� b���`b�� b�� 	` 
�����`1 ��

:




����b� ��` ������ �����`bb�!� !
��b` �� b`

� b��b`�� ��� 
���(b` 	` 	��

���
���`�`1 ��`b�`� ` 	� b�`	1 �� 
����� ������`� 	`� 
��
���`��� ���	�b���b`�

	�b`	�� b�� ����	�b�!� �`��
����b` ^961 97_3 D	 ��b`��`� 	` 
�����` 
�� ��a`��

�� 	` 
���` � ����b�`� 	` �`��`b�!� ���
���` 
�� 	` 
���` �� ���b�!� �� 	` 
���2

b�!� �� 	` 
�����`1 �� 
����� ��`a`� �
������ !
��b`� �����	�`� ` �`����b`	`3

D	����`���`
����1 �� 	���� �� a`��` `�b�` 
���� ���	��`��� b�
� ������ ��

	�� �	�
��`���` 
`�` ��`	��`� ��
�b����b�
�` ����`����` 
�� ��`�����
`�` ��

I������ .�`��2IWLU/ b�� ����	�b�!� ` �`����b`	` 
`�` �������`� ��
�b���� LU

�� ��` 
���b�!� (�` �� 	` 
�����` b�� ��` ����	�b�!� �� `
����
`�`
���� 75

�
 ^961 97_3 O�� ���

	�� �� �
������ �� �2VQRP � 	` ��
�b����b�
�` �`��2

IWLU ��b	���� 	` ������(b`b�!� ����`����` ` �`����b`	` �� 	` 
`����` ������b`

^861 97�:5_1 	` ����`	��`b�!� �� �	 ��
`b�� ��`	 �� 	`� �����`�b�`� ��	 
	`�
!� ��

�`�������b���`� 
���	�b`� ^:6�:=_1 	` 
��
`�`b�!� �� 	` 
�	`����� ��	 
	`�
!�

� �	 ���!� �� 
`����`	�� 7G ^:>�;:_1 � �	 
`
�� �� 
��
����`��� �	�b�����b��

�� ��
�b����b����� ^8<1 ;;�<7_3

D����� 	` ��
�b����b�
�` �2VQRP � �`��2IWLU ��� ��b��b`� a��� ���`a	�2

b��`� � (`a	�� 
`�` 	` b`�`b�����`b�!� �`��
����b` �� 
�����`� � ���
��������

�� �	 LU � WK�1 	`� 
���a	�� 
����`� b�� ���
�b�� ` 	` ����	�b�!� ��
`b�`	1

	` �����a�	��`�1 `�� b�
� 	` �����
���`b�!� �� 	�� ��
�b���� �� b`

� b��b`��


������ � 	�� b����`���� �� 
`����`	�� ��� ���`��` �� ������� �� ��`� 
����`

����
	��`��3 W��`� ���`� 
��
���`��� ��
����� �� ��`� 
����` �� 	` �����2

`bb�!� 
���`2
�����` ��	 b`

� b��b`��1 ��� �� �����
��` 
�� �	 
`����`	 �

	` ���
����` �`��� �� 	` 
���` b�
� �� 	` 
�����` 
��
`3 S�� 	� �`���1 ��`

��������`b�!� ���`�����` �� 	` ��)���b�` �� 	` 
���` � 	` 
�����` �� 	` ����	�2

b�!�1 �����a�	��`� � b����`��� ��
�b��`	 �� b	`�� 
`�` 
����`� ���`� 
��
���`���1

��� �� ���b�! ���`a	�
���� b�� 	` `
	�b`b�!� �� ����`� �� `����` �����`��� ��

�	 �`��� ��
�b��`	 �� ����`������ ^<8_3 H� ���` �����1 �`���� `�
�b��� �� �2VQRP

� �`��2IWLU 2����� 
����`� ��b��b`� b�
� 	` ����	�b�!� � 	` �(b���b�` �`��`

��` b�

�����!� � �����
���`b�!� ����`
���`	 �� 	�� �`��� 
������2 �`� 
���2

�`�� �����(b`���`
����3 S`�` 	���`� ���� �a������1 �� �����`��� ����`� ����`�

�� b`

� b��b`�� 
`�` �2VQRP1 �� b����`��� b�� 	`� 
����	`� DIP b�
��2

b�`	�� ��
�b`�1 � �� ���	��`��� 
�����`� �� 
���a` a��� ��(���`� 
`�` ������`� �


����`� �����(b`���`
���� 	` ����	�b�!�1 	` �(b���b�` � �	 b����`��� ��
�b��`	3

H��` ����� 
������` 	` ��������� �����b���`?

H� �	 b`
���	� 8 �������b�
�� 	`� ��b��b`� ��
�b����b!
�b`� �� �2VQRP .
�2

;
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/
1�/ .%� �
 ���/����� `/ L
`2

��� VHP �� b�	�� �`	�� �� ��` 
���` �� `����` WK�1 �`a��b`�` b��

ILE ��� 
�����` V� ��	`���� .�����/1 S� ��
����`�� ILE .
$�
��`/

� 	` 
���` �� `����` S�4L� .`
`��		�/3 a/ F�	b�	� ��
���b� �� 	`

������a�b�!� �	�b���b` �� b`

� b��b`�� .	��`���
� �� 	` 
����`

��	 b`

� �	�b���b�/ �� ��` 
���` 	`��` �� O A 8: µ
1 ��� 
���2

��` 	` 
��
��` �����`�b�` ����`
���`	 �� 	` `����`3 b/ P����`

�� 	` 
����` �� b`

� �� �	 �����b� �� 	` 
���` 
`�` ����������

	��������� �� `����` .
����� `��	��/ �� b�

`�`b�!� b�� 	` ��
2

�	`b�!� ��
���b` �� 	` 
����` �� 	` ��������`� �� b`

� b��b`��

�� 	` 
���` �� 	` 
���` .	���` `��	 b������`/3 O�� ���� �����b`	��

�� 	` ��
�	`b�!� ��
���b` �� `����`��� 
`��`	
���� �� 
��� ���

�� �a������` 	` 
���� b��b���`�b�` b�� 	�� 
����� �� �`��� ��
��2

�
���`	��3

b���b�
�` !
��b` �� a`����� �� b`

� b��b`�� �� ��
� ���
������/ � �`��2IWLU

.�`��2��
�b����b�
�` �� ����`������ 
�� ��`�����
`�` �� �������/1 `�� b�
� 	��


���	�� ��!��b�� ��� ���b��a�� 	�� b����`���� !
��b�� 
������ ����� 
`����`	��3

H� �	 b`
���	� 9 
����`
�� ��� 
�����`	��`��� 	`� ����`� �� b`

� b��b`��

�� �2VQRP 
`�` �	 �`��� �� 	�� ���`���b��� �� 
���� b�������� �� `�
����

�����(b`���� �� 	` ���`	 b�� ���
�b�� ` 	`� ����`� ������`� � b�
��b�`	�� ^<9_3

H��� 
���� �����
����� �� 	`� ����`� �� b`

� b��b`�� �� b��������� 
�b`�2

��`��� 	`� 
���`� ���	��`��� �� �`� �� �	�b������ ��b`	��`�� .ILE/ 
`�` ��� ��

	������� ��` ��	 ����� �� 	` 	������� �� ���` �� �	 �`��� �� 	�� ���`���b��� .���

I��3 636`/1 
�b�� 
`��� ��� 	` 	������� �� 	`� ����`� b�
��b�`	�� .`	�������

�� 65 µ
/3 O` 	������� �� 	`� 
���`� �� `����`�` 
`�` ��� ��
���� �����`�2

b�`� �� 	�� ���`���b���1 	� ��� 
����`
�� �� �	 b�	b�	� ��	 b`

� �	�b���b� 
`�`

��` 
���` �� 	������� O A 8: µ
 
����`�� �� 	` I��3 636a3 O`� �����`�2

b�`� ��b��`�`� �� 	` 
���` `�
���`� �	 b`

� �	�b���b� �� �� �
�b� �`��` ��

<
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	����� a� ����� ��b���� ���

a�`
 .ILE/ 
`b������ �� b����
��� ��� 	����� �� ��� ��
� �� 	����� �b`	��

�� ��� W��`����� �`��	����� .`����� 655 µ
/1 ��b� ��`� ����� ��
� `�� 
�b�
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	����� ��`� ��
�b`		� �

	���� b�

��b�`	 ��
� .`����� 65 µ
/3 W�� 	�����

`�����
��� �� ��� ��
� ��`a	�� ��� ��b��`���� �� WK� `�����` �����`�b�� ��

��� ��
�1 ���b� ���`�b�� ��� ��`�2(�	� `� ��� ��
 `
�� a� �
 �� ` �`b��� �� >3

W��� ��`�2(�	� ���`�b�
��� �� b��(�
�� a� ����b�	� ����b���� ��� ��`�2(�	�

��������� `� ��� ��
 `
�� �

	����� ` ��`
����2a`��� ��`�2(�	� ����b���1 `��

b����a��`��� a� ��
���b`	 ��
�	`�����3 W�� 
�������� WK� ��`�2(�	� 
��a��


��
��� ����������� WK� �2VQRP `

	�b`���� ���� ���`�b�� �����������1 ���b�

b��	� a� �� 
`���b�	`� �������� ��� �2VQRP WK� ��
� ��
`�� �
�b����b�
�

.WK�2WGV/ ��
���
����1 ����� ��� ����`	� ��
�b`		� `�� ��`�3

L� F�`
��� :1 ��� �2VQRP �
`�� b����`�� ���
`���� `� 
`����`	 a����`����

�� �������1 `� ��		 `� ��� �
`��`	 ����	�����1 ���b� �� ` ���
������	� ����
	����

����`�� ^<:_3 W� ��`� ���1 �� �������b� ��� ��`�4����� ��`� �� ` b�

��b�`	

�`�� ���� ����� .KGG/ `� ` 
��� ����`a	� ���� �`

	�1 ����� ��� ��		2��(���

��`�
 
`����`	 a����`���� 
��
����b�	`� �� ��� �	��`2�
���� ����`b�3 Z� �a2

�`�� ��
��b������� `�� ����
�b��� �������� ���� ��� �2VQRP �
`�� ���
`����


��b���1 ���� �� ��
���`
��2����b�� b����`��� ��`� ����� 
`�� `�� `���(b�`		�


����� ��� 
��� ��`�2(�	� �
��b`	 b����`��3 Db���� ��� 
��`	2���	�b���b a����2

`��1 �� �a����� ���2
����2��

����b 	��� 
��(	�� ��� a��� LU `�� WK� �		�2


��`����1 ���b� `�� ��		� b����a��`��� a� ��
���b`	 ��
�	`�����3 Z� ��
	`��

��� (������ a� ` �`

	�2��
������ b��(��
��� `�� �b������� �� ��� ��`�

(�	�� `� ��� ��
 `
��1 ���b� ��		 a� �� b��b�`	 �

���`�b� ��� `� `bb��`��

�������`����� `�� 
��
�� �����
���`���� �� ����2����	����� �2VQRP �
`���

�� �`��2b�

����� 
`����`	�3 Z� ������� ��
�����`�� ��`� ���� �	��`2��`�


�������� ��
� ��� `

`���� ����� .����	�����/ �� ��`�
 
`����`	 a����`���� b`�

a� ����b�� �� `a��� : �
3

L� F�`
��� ;1 �� �����
`��b`		� ����� ��� ���b�����2��
�����b� �� �`��2

IWLU �
�b��` �� ���� 
�	�
�� (	
�1 `�� 
������ �����	���� ��� ����� b�

`��2

��� �� ��`��`�� �`�2(�	� IWLU �
�b��` ^9=_3 S`���b�	`�	�1 ��� �
�b��`	 a��`����

�� ��`�2(�	� 
�`�� `�� ��`�2(�	� `a���
���� �� �������1 a��� ��`������� ���2

������� ��� 
�����b� �� ` 
�	�b�	`� �����`�b�3 L� �� ��
�����`��� ��`� ���

��`�2(�	� 
�`�� �
�b��` ��	� ��`�	� ��
��� �� ��� (	
 ���b����� `�� b`� a�

���� ��� `� `

����
`�� b�

`����� ���� ��`���� ��b����b� IWLU .JL2IWLU/

�
�b��`3 L� b����`��1 ��� ��`�2(�	� `a���
���� �
�b��` b`� a� b�

`��� 
���


��b���	� ���� �`�2(�	� �
�b��`? ��� �	��`2���� (	
� ���� 
`�b� ��		 JL2IWLU

�
�b��`1 ���	� ��� ���b� (	
� ` ���� `����
��� ���� ��`��`�� ��`��
������
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IWLU �
�b��` �� �����3 R�� ����	�� `�� a`��� �� ��
���
���`	 �`�` �a�`����

a� �`���b`	� IWLU .�`��2IWLU/ �
�b����b�
� `�� ��

����� a� ` b�

�����2

���� ��������b`	 `�`	���� �� 
������ ` �������� �������`����� �� ��� b����	`����

a������ ��`�2 `�� �`�2(�	� IWLU �
�b��`3
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V��b� ��� ���`a	���
��� �� b���������`	 	���� 
�b���b�
� �� ��� 6<�� b������1 ��

�`� ����� ` �`�� �`����� �� `

	�b`����� �� �b���b� `�� ��b���	���3 L� �� a`���

�� 
������ `�� 	����� ��� ������� `�� ��b����� �� 
��
`�`���� �	�b���
`�����b

�`��� �� ���
 `� �
`�� �� ��� �a��b� ����� ��������`���� ^7_3 K������1 ��� ��

��� �`�� �`����1 	���� �� ��'�`b��� ���� 
`����� ������� `
������� `�� 	�����1

���b� ��������	� 	�
��� ��� �
`��`	 ����	����� �� ��� ��b������3

W�� ����	����� 	�
�� �� `� �
��b`	 
�b���b�
� �`� `	��`�� ���
�	`��� a�

O��� U`�	���� ^65_ `�� H3 Daa� ^>_1 `�� �� ����� a�

xmin = 0.61
λ

n sin ξ
= 0.61

λ

NA

, .836/

����� xmin �� ��� 
���
�
 ����`�b� `� ���b� ��� 
���� 	��� �a��b�� b`� a�

����	���1 λ �� ��� �
`���� �`��	�����1 n ��� ����� �� ����`b���� �� ��� 
����


a������ 	��� `�� �a��b�1 `�� ξ ��� �`	�2`��	� �� ��� 	���� b��� ����b��� a�

6:



��� �a��b����3 NA = n sin ξ �� b`		�� ��� ��
���b`	 `
������ �� ��� �a��b����3

Dbb������ �� ��� ���
�	`���� �� ��� ����	����� b�������� �� ��3 .836/1 ��� ����2

	����� �� ��b��`��� ��� ��b��`���� �`	��� �� xmin3 D� ` b��������b�1 ��� �������

`b����`a	� ����	����� .�3�3 ��� �
`		��� xmin/ �� `�� .n = 1 ⇒ NA ≤ 1/ �� `�

�
��b`	 	���� 
�b���b�
� �� `

����
`��	� λ/23 W�� ����	����� b`� a� ��b��`���

a� ��b��`���� ��� ��
���b`	 `
������ NA1 ���b� b`� a� `b������ a� (		��� ���

�
`b� a������ 
�b���b�
� �a��b���� `�� �`

	� ���� `� �

������ 	�����1 �3�31

�`��� .�A6388/1 �	�b���� .�A639</1 �� ��	 .�A63:6/3 D� ��� ����`b���� ����� ��

��b� `� �

������ 	����� �� 	`���� ��`� 61 ��� NA �� ��b��`��� b�

`��� �� `��1

`�� ���b� ��� �
`��`	 ����	�����3 K������1 ���� ���� ��� `�� �� `� �

������

	�����1 ��� ����	����� �� 	�
���� �� 	����� �b`	�� �� ��� ����� �� 755 �
 �� ���

����a	� �
�b��`	 �`��� .λ ≈ 400− 700 nm/1 a�� �����(b`��	� ������� ��� 	�����

�`��	����� �� ��� 
��2����`��� .λ ≈ 3 − 30 µ
/ �� ��� ���`����� .WK� ��

�`�2����`���1 λ ≈ 30− 300 µ
/ �
�b��`	 �`���3

E������ ��� ��
���b`	 `
������ NA1 ��� �`��	����� λ �� ` ����`
���`		�

	�
����� �`b��� �� ��� ����	�����3 W�� ����	����� b`� a� ��b��`��� a� �����

	���� �� ` ������� �`��	����� λ .��� ��3 .836//1 �3�31 �	��`2���	�� .XY/ �`��`����

.λ = 10−400 �
/ �� �2�`�� .λ = 0.01−10 �
/3 K������1 ��� ���� ������ 
��2

���� `� ��b� ����� �`��	������ b`� �`
`�� �� 
`���b�	`� ���`��b `�� a��	���b`	


`����`	�3 E������ ����� ����� �`��	������1 ����� `

��`b��� ����� �� �������

��b��`�� ��� �
`��`	 ����	�����1 ��b� `� VWRUP ^<;1 <<_ .V��b�`���b`	 R
��b`	

U�b������b���� P�b���b�
�/ `�� SDOP ^<=_ .S���� Db���`��� O�b`	��`���� P�2

b���b�
�/1 ���b� �

	�� ��`�����b`	 
������ �� )�����b��� �`

	��3 W�
�b`		�1

` ����	����� �� ��	� ` ��� �`��
����� b`� a� `b������ ^<>_3 Da��� ��� �`
�

����	����� ^=5_ b`� a� `b������ a� VWHG .V��
�	`��� H
������ G�
	�����/ ^=6_


�b���b�
�3 VWHG ��	�b����	� ��
	���� )�����b��� ��`��� �� 	`a�		�� 
�	�b�	��

���� ` 	`��� a�`
 ���������� ��b� ��`� ` b����� �
�� �� ��� �		�
��`��� `��`

��
`��� )�����b��� `b���� ^=7_3 W��������1 )�����b��� 
�	�b�	�� �� ��� b�����

������ b`� a� ����b���3 E� b������� ��� a�`
 
��(	� ��b� ��`� ��� b����� �
��

�� 
�b� �
`		�� ��`� ��� �`��	�����1 ��a2��'�`b���� ����	����� �� 
����a	�3

D ���2�
��b`	 ��b������ �� ��b��`�� ��� ����	����� b�

`��� �� b	`���b`	 	����


�b���b�
� �� �	�b���� 
�b���b�
�1 ���b� ��
	���� ��� 
�b� ������� �`��	�����

�� �	�b����� b�

`��� �� �	�b���
`�����b �`��� �� ��� ����a	� �
�b��`	 �`���3

H�`

	�� `�� Vb`����� H	�b���� P�b���b�
� .VHP/ `�� W�`��
������ H	�b����

P�b���b�
� .WHP/1 ����� `� �	�b���� a�`
 �b`�� ��� �`

	� ����`b� �� b��`��

6;



`� �
`�� ���� �
`��`	 ����	����� ���� �� Ångstroms 	����� �b`	�� ^=81 =9_3

D������ ����	� ����`��	� 
�b���b�
� ��b������ ��`� b`� `b����� �`���b`	�

����	����� �� Vb`����� S��a� P�b���b�
� .VSP/1 ���b� �� �������b�� �� ���`�	

�� ��� ��		����� V�b���� 8373

��� (-+		�	� ��
,� ��-�

-
��

Vb`����� S��a� P�b���b�
� .VSP/ �� `� �
`���� ��b������ ��`� b`� `b�����

�`���b`	� ����	����� a� �b`����� ` ��`�
 
��a� `b���� ` �`

	� `�� ��b������


����b`	 
��
������ .��b� `� ��
���`
��1 �	�b���b`	 b����b������1 �b`������ 	����1

��b3/ `� ` ���b���� �� ��
 
�������3 D� (��� ��
���
���`	 ��`	��`���� �� `� VSP1

/�

�
� ��! G� �������b�� ��� Vb`����� W����	��� P�b���b�
� .VWP/ ^=:_1

����� ` ��`�
 b����b���� ��
 �� �`���� �b`���� `b���� ` b����b���� �`

	�

^6;_3 D a�`� ��	�`�� �� `

	��� a������ 
��a� `�� �`

	�1 `�� ��� �����		���

b������ �� 
�`�����3 W�� �����		��� b������ �� ` ��������� 
�`���� ��� ���

����`�b� a������ ��
 `�� �`

	�1 `� �� ��b`�� ��
������`		� ���� ��b��`����

��
2�`

	� ��
`�`����3 W��������1 ��� �����		��� b������ b`� a� �

	���� `�

����a`b� ����`	 �� ` ����a`b� �����
 ��� ��
2�`

	� ����`�b� b�����	3 L� ��b�

` ����a`b� �����
1 ��� ����a`b� ����`	 .���� �����		��� b������/ �`� ` ��(���

���
����1 `�� �� 
�������� ���	� �b`����� ��� �`

	�3 L� ��� ����a`b� ����`	

b�`���� a�b`��� ��� ��
2�`

	� ����`�b� b�`���� ���� 
`����`		�1 �3�31 ��� ��

��� ��
���`
�� �� ��� �`

	�1 ��� ����a`b� �����
 `������ ��� �����b`	 
�������

�� ��� �`

	� �� 
`���`�� ` b����`�� ��
2�`

	� ��
`�`����3 E� ��b������ ���

����`�b� ���� ���b� ��� �`

	� �`� �� �����b`		� ��`��	 �� 
`���`�� ` b����`��

���
���� ���	� 	`���`		� �b`����� ��� �`

	�1 `� �
`�� ���� ` �
`��`	 ����	�����

���� �� ��� Å������
 	���	 b`� a� ��b�����3 W�� 
��b��� ��������`	 `��

�����b`	 
���
��� �� ��� �`

	� ��� ��
2�`

	� ����`�b� b�����	 �� `b������ a�

�

	����� 
�����	�b���b `b��`����3

Q��`�`��1 ��� �� ��� 
��� b�

�� `�� 
��� �

���`�� VSP ��b�������

�� D��
�b I��b� P�b���b�
� .DIP/ ^=;1 =<_3 I����� 836 ����� `� �		����`����

�� ` ��
�b`	 DIP ����
3 D ��`�
 ��
 ���� ��
�b`	 `
�� �`���� a������ 6 `��

:5 �
 �� �b`���� ���� ` �`

	� ����`b� ���� ��a2�`��
���� 
��b����� �����


�����	�b���b `b��`����1 ���	� ��� 
�b�`��b`	 ���b�� a������ ��
 `�� �`

	� `��


�`�����3 W� ����b� ����� ���b��1 ��� ��
 �� ��
�b`		� 
������ `� ��� ��� �� `

)���a	� b`���	����1 ���b� �� a��� ���� ��� �����`b���� ���b�� b�`���1 �3�31 ���
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�� ��
���`
�� �� ��� �`

	�3 W�� a������ b`� a� 
�������� a� ��)�b���� `

	`��� a�`
 `� ��� a`b�2���� �� ��� b`���	���� �� ` 
������� ��������� ����� .�3�31

` ��� �� ���� ���
��� 
���������1 ��� I��3 836/3 W�� 
������� �� ��� ��)�b���

	`��� a�`
 �� ��� ����� �� ���� `� ` ����a`b� ����`	 a� ` ����a`b� �����
 ���	�

	`���`		� �b`����� ��� �`

	� a�	�� ��� ��
 .��(��� `� ��2
	`��/3 L� �� ��(��

��� �2����b���� �� a� 
��
����b�	`� �� ��� �`

	� ����`b� .�����b`	/ �� ���

�`

	� ����`b� .��� ��(������ �� I��3 836/1 ��� ����a`b� �����
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	����� .EV/3 W�� ��`��
����� 
`�� .a�`
 7/ �� ��b����

���� ` 
`�`a�	�b 
����� ���� ��� ��
 `
�� �� ��� �2VQRP3 W�� �`
� 
`�`a�	�b


����� b�		�b�� `�� b�		�
`��� ��� ��
2�b`������ (�	� Esca3 D� ��� a�`
�
	�����

�� �� ��)�b��� `�� ������ �� ��� ����b��� .a�`
 9/1 ����� �� ���������� ���� ���

�������b� a�`
 .a�`
 8/ ��`� �`� ��)�b��� `� ��� �������b� 
����� .UP/3 W��

��������� ��b����� a� ��� ����b��� �� ���� ����� a�?

Idet ∝ |Ebg + Enf + Eref |2 = (Ebg + Enf + Eref ) (Ebg + Enf + Eref )
∗ . .83</

L� 
�2��� ���������
���� ����� ����� ��� 
���	`���� 
�b�`���
� �� ��� ��2
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I����� 839? #���
�	�
�/� ����� ��
 ������ ��-)*( �	/��
�� D 	`���

����b� �����`��� 
���b���
`��b �`��`���� .6/1 ���b� �� ������� a�

` a�`
�
	����� .EV/ ���� ` 
��a� a�`
 .7/ `�� ` �������b� a�`


.8/3 W�� ��
 ��b�		`��� �� �2����b���� ���� �������b� Ω `�� ���

�������b� 
����� ���� �������b� M 3 W�� ����b��� a�`
 
`�� .9/

������ a��� ��
2�b`������� `�� �������b� a�`
 �� ��� LU ����b���1

����� ��� ����������b� a������ a��� a�`
� �� ����b���3 W�� ��2

��b��� ����`	 �� ��
���	`��� `� �������b��� nΩ+M `�� nΩ+ 2M
�� �a�`�� ��`�2(�	� `

	����� sn `�� 
�`�� ϕn3

��b��� ����`	 Idet3 R� ��� ��� �`��1 ��� ��
2�b`������ (�	� Esca = Enf + Ebg

�� 
���	`��� a� ��� ��
 ��a�`���� ���� b`���	���� ��b�		`���� �������b� Ω .��
2

�b`		� ��� ������� �K�/ `�� ��� ������ �`�
���b� nΩ ��� �� ��� ��
2�`

	�

��`�2(�	� �����`b����1 `� ���b��a�� �� ��� 
������� F�`
��� 838373 W���� ���2

�`
���`	 �`�
���b� nΩ `�� ����� �� I��3 83: `� a	`b� a`�� �� ��� ���������

�
�b���
 Idet 
�`����� a� ��� ����b���3 W�� ��b��� 
���	`���� 
�b�`���


`����� ���
 ` 
������b 
���	`���� �� ��� 	����� �� ��� �������b� a�`
 
`��

.a�`
 81 I��3 83;/ a� ��a�`���� ��� �������b� 
����� UP `� �������b� M � Ω

.��
�b`		� ��� ������� K�/3 W��� 
���	`���� ���	�� ��� ��
�2��
������ �����2

��b� (�	�

Eref = Eine
i(γ sin(Mt)+ ψref ), .83=/

����� γ �� ��� 
�`�� 
���	`���� `

	����� `�� ψref �� ��� 
�`�� �'��� ��`�

`bb����� ��� ��� `���`�� �
��b`	 
`�� ��'����b� a������ ��� ����`	 `�� �����2

��b� a�`
3 G�� �� ��� ����������b� a������ ��� ��
2�b`������ 	���� ���� ���


�`��2
���	`��� �������b� a�`
1 ����a`��� `� �������b��� fn,m = nΩ ±mM

.m ������� ≥ 1/ ���� �� ��� ����`
���`	 �`�
���b� nΩ `

�`� �� ��� ����b���
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I����� 83:? Vb��
`��b ��
������`���� �� ��� 
�`����� ����b��� ����`	 Idet ����

�����2���������� ���������
����b ����b����3 D�`
��� ���
 ^66;_3

��������� �
�b���
 Idet .��� a`��1 I��3 83:/ ^66;_3 X���� ��� (��� .
A6/ `��

��b��� ����a`��� .
A7/1 ��� a`b�������2���� ��`�2(�	� `

	����� snf,n `��


�`�� ϕnf,n �� ��� b�

	��2�`	��� ��`�2(�	� �b`������� b��*b���� σnf,n b`� a�

b`	b�	`��� `bb������ �� ^66;_

snf,n = 2.16k
√
I2n,1 + I2n,2 .83>/

`��

ϕnf,n = arctan

(
In,2
In,1

)
+ ψref , .8365/


������� ��`� n �� ��*b����	� 	`���3 k ∝ ei ψref
�� ` b�

	��2�`	��� b��2

��`�� ��	`��� �� ��� ���������
���� `	���
���3 Q��� ��`� �� �� ��� ��b��2

�`�� �� �����
��� k1 `� ��
�b`		� ��	`���� 
`����`	 b����`��� `�� 
�`�����

�2VQRP1 �3�31 ��� 
�`����� ��`�2(�	� `

	����� snf,n `�� 
�`�� ϕnf,n ���2

�`	� 
�`����� �� ` �
�b�(b �`

	� 
`����`	 `�� ���
`	���� �� ��� `

	�2

���� srefnf,n `�� 
�`�� ϕref
nf,n ����`	� �� ` �������b� 
`����`	3 W��� ���
`	2

��`���� 
��b����� ���	�� ��� ���
`	���� b�

	��2�`	��� �b`������� b��*b����

ηn = σnf,n/σ
ref
nf,n = snf,n/s

ref
nf,n exp

(
i
(
ϕnf,n − ϕref

nf,n

))
3 K��b�1 ��� �`b��� 2.16k

`�� ��� �������b� 
�`�� �'��� ψref b`�b�	 ���3

����� %�
�����* ����*(� �����
(���

V�������b R
��b`	 K�	���`
�� .VRK/ ^66=_ �� `������ ���������
����b ����b����

�b��
� ��� `

	�����2 `�� 
�`��2����	��� �2VQRP �
`���� `�� �`� ���� ��

F�`
��� : `�� ; �� ���� ������3 W�� ���b��
���� �� ��� ��b������ �� ���� ��b����
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�	�
�/� ����� ��
 -*% ��-)*( �	/��
�� D 	`���

����b� �����`��� 
���b���
`��b1 FZ �`��`���� .6/1 ���b� �� ��
2

`�`��� a� ` a�`
�
	����� .EV/ ���� 
��a� a�`
 .7/ `�� ��� �����2

��b� a�`
 .8/3 S`�`a�	�b P����� SP6 ��b���� ��� �`��`���� �� ���

��
1 ���b� ��b�		`��� �����b`		� ���� �������b� Ω1 `�� b�		�b�� ���

��
 �b`������ (�	�1 ���b� �� ������ �� ��� LU ����b��� .9/3 Z��	�

��� �`

	� �� �b`���� a�	�� ��� ��
1 ��� �������b� 
����� .UP/

�� ��`��	`��� ���� ` ����`�b� d3 W�� ����b��� ��������b ��	���`


�� ��
���	`��� `� nΩ �� b`	b�	`�� ��`�2(�	� `

	����� snf,n `��


�`�� ϕnf,n a� I������ I�	������ `� ���b��a�� �� F�`
��� 838393

�� `�`
��� ���
 �������b� ?I�
��� ��! G� ^66=_3 L� ��� ��		����� ��� VRK

�
`���� 
��b��� �� ��
	`����1 `�� �� �		����`��� ���

	`��	� �� I��3 83< ����

��� 
�`����
��� �� ` 	���`� ��
�	� `�����` `�����` .I��3 83<`/1 ���b� ����a���

` ��		2��(��� `�����` �����`�b� `� λ A 66 µ
3

L� �`�2(�	� �
��b�1 �
��b`	 ��	���`
�� ^66>1 675_ �� `� �
`���� ��b������

����� ��� �b`������ 	���� ���
 `� �		�
��`��� �a��b� �� ��
���

���� ���� `

�������b� �`��3 W�� ����	���� ����������b� 
`����� �� b`		�� ` ��	���`
1 `��

��b���� ��� b�

	�� �
��b`	 (�	� �b`������ ���
 ��� �a��b�3 W�� ����b���� ��

��� b�

	�� �
��b`	 (�	� 
`��� �� `

�`	��� ��� ��� �

	�
���`���� �� �2VQRP

�� ����b� ��� b�

	��2�`	��� ��
2�b`������ �`��`����3 K������1 ��
�b`		� ��b�

�`�2(�	� ��	���`
�� ��b������� ��� b`
��`�1 �3�31 ��� ��
������`	 `��`�� ��


���� ����b����1 �� ��b��� ��� ��	���`
1 ���	� �� �2VQRP ��	� ��� ����	�


���� ����b��� �� �

	�
����� �� ����b� ��� ��
2�b`������ �`��`����3 W��������1

��� ��	���`
��b ����b���� �b��
� ���� �� �2VQRP �� a`��� �� ` P�b��	���

���������
���� �� �����`�� ` �����G� �������b� �`��1 ���b� �� ��
	`���� �� ���

��		����� 
`�`��`
��3

VRK �� a`��� �� ` P�b��	��� ���������
���� .��� I��3 83;/3 L� b����`��
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I����� 83<? #���
�	�
�/� ��	�
��
/���
 �� -*% 
�/
����� �	/��
� ��

/
 &, /
��

/� `/ DIP ��
���`
�� �� ��� `�����`1 ������� ���

	���������`		� `	����� D� ���� �� 73> µ
 	����� `�� :5 �
 ������1

��
`�`��� a� ` :52�
 �`
 `�� ��

����� �� ` F`I2 ��a���`��3 a/

K�	���`
 Idet,4(r)1 ���	���� <55 � 655 
���	�3 W�
���`
�� `�� ��	�2

��`
 �`�� a��� `b������ ��
�	�`�����	� �� 69 
��3 b/ P`�������

�� I������ ��`�����
 |Ĩdet,4(q)| �� I4(r)1 ������� ����� 
�`�� b����2

�
������ �� ��� b�����`�� ���
 sref Ẽ
∗
sca,41 `���b����	`���� ���
 C4

`�� ��� ����b� ���
 s∗ref Ẽsca,4 .��
 �� a����
/3 �/ I�	����� IW a�

`

	���� ` K`

��� ������ `bb������ �� ��� ��� �`���� a�� ��

b/3 �1�/ U�b������b��� `

	����� `�� 
�`�� �
`���1 ssca,4(r) `��

ϕsca,4(r)1 �a�`���� a� ��2b�������� �� � `�� ��a������� ������� IW3

I����� �`��� ���
 �������b� ^66=_3

�� 
�2��� ���������
����1 ����� ��� 
�`�� ϕref �� ��� �������b� (�	� Eref ��

�`�
���b`		� 
���	`��� `� �`b� 
���	 ���� �������b� P1 VRK �`���� ��� ���2

����b� 
�`�� ϕref (r) 	���`�	� `b���� ��� �
`�� `� ` ���b���� �� ��
 
�������
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r = (x, y)3 W��� �� `bb�

	����� a� �	��	� b�`����� ��� �������b� 
����� 
���2

���� d(r) ���� b����`�� ��	�b��� vref ���	� �`
��	� �b`����� ��� �`

	� a�	��

��� ��
3 W���1 ��� �������b� 
�`�� b`� a� ��
������ `� ` ���b���� �� ��
�

`bb������ �� ϕref (t) = ω′t + ϕ01 ���� �������b� 
�`�� ϕ0 `� ��
� t = 0 `��

`���	`� �������b� ω′ = 2π · 2vref/λ3 D� ��� �`
� ��
�1 ��� �`

	� �� �`����2

�b`���� a�	�� ��� ��
 `	��� ��� x `�� y ����b����� �� ` b`�����`� b������`��

�����
1 ���� ��	�b����� vx `�� vy1 ���
�b����	�3 W�� �`

	� 
���� �`
��	� ��

� 2����b���� `�� `���� ��`��	��� ��� ��		 �b`� 	����� X �� ������� �� ��� ������`	


������� `� ��� �`
� �
���1 `�� 
���� �� �2����b���� a� ��� ���
 ∆y3 K��b�1

��� �'�b���� �b`� �
��� �� �2����b���� �� vy = vx∆y/(2X)3 W���1 �� b`� ��2

�����b� ��� �����`	 �`�� ��b��� k|| = (kx, ky) 2 �� `�`	��� �� ��� �������b�

�`�� ��b��� �� b	`���b`	 �`�2(�	� ��	���`
�� 2 ���b� �� ����� a� kx = ω′/vx `��

ky = ω′/vy = 2Xkx/∆y = 2Xω′/(vx∆x)1 `�� b`� ����� ��� �������b� 
�`�� `�

` ���b���� �� ��
 
�������

ϕref (r) = k|| · r+ ϕ0. .8366/

W� `b����� ` ��������b �2VQRP ��	���`
1 ��� ��
2�b`������ (�	�

Esca(r) ∝ σsca = ssca(r)e
iϕsca(r)

�� ��
���

���� `� ��� ����b��� ���� ��� ���2

����b� (�	� Eref (r) = sref (r)e
iϕref (r)

`�� ��� nth
����� ��
���	`��� ����b���

����`	 Idet,n(r) �� ��b�����3 K��b�1 a� ��������� ��3 83: ���� ��3 83<1 Idet,n(r)

b`� a� ������� `� ^66=_

Idet,n =
∞∑

l=−∞

Esca,l+n(r)E
∗
sca,l(r) + E∗

sca,n(r)Eref (r) + E∗
ref (r)Esca,n(r). .8367/

H��

	`��	�1 I��3 83<a ����� ��� 9

th
����� ��������b �
��b`	 ��	���`
 Idet,4

�� ��� ����`��� 	���`� ��
�	� `�����`3 L� ����a��� ��� ��
�b`	 ������ 
`����� ��

` ��	���`
 �� ��� �
`�� 
	`��1 ���b� �� �����`��� a� ��� ����������b� �� ���

��
2�b`������� Esca ���� ��� �������b� �`�� Eref ���� �����`	 �`�� ��b��� k||3

W�� `

	����� ssca,n `�� 
�`�� ϕsca,n �� ��� ��
���	`��� �b`������ ����`	

Esca,n(r) b`� a� ��b������b��� a� I������ W�`�����
 (	������ �� ��� �2�� �����

��	���`
 Idet,n ���� ���
�b� �� 
������� r3 W�� I������ W�`�����
`���� .IW/

�� ��� ��`�2(�	� ��	���`
 Idet,n(r) �� ����� �� I��3 83<b `�� ��`��

Ĩdet,n(q) = Cn(q) + sref Ẽ
∗
sca,n(k|| − q) + s∗ref Ẽsca,n(k|| + q). .8368/
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Cn �� ��� IW �� ��� ��
���	`��� ���


∑∞
m=−∞ Esca,l+n(r)E

∗
sca,l(r) �� ��3 .8367/3

s∗ref Ẽsca,n `�� sref Ẽ
∗
sca,n `�� ��� ����b� ���
 `�� ��� b�����`��1 ���b� `�� b��2

����� `����� k|| `�� −k||1 ���
�b����	�3 W��� �� �		����`��� �� I��3 83<� `�� � ���

nA91 ����� �� b`� b	�`�	� �������� ��� `���b����	`���� ���
 C4 �� ��� b�����

�� ��� IW1 `� ��		 `� ��� ���
� s∗ref Ẽsca,n `�� sref Ẽ
∗
sca,n1 ���b� `�� ��
`�`���

���� ��� �

�� `�� 	���� �`	� �
`b� �� ��� IW1 ���
�b����	�3

E� (	������ �� I������ �
`b� �� b`� ���	`�� ��� ����b� ���
 s∗ref Ẽsca,n1 `�

����b`��� a� ��� ��� �`���� a�� �� I��3 83<b `�� �a�`�� ��� (	����� IW .I��3

83<�/3 E� �������� ��� ����	� �� ��� b����� �� ��� I������ 
	`�� `�� a� �������

IW �� �a�`�� ��� n ≥ 2 a`b������� ���� ��`�2(�	� `

	����� snf,n = ssca,n `��


�`�� ϕnf,n = ϕsca,n �
`���1 `� ����� �� I��3 83<� `�� �3 W�� ����	� ����`	�

��� ��
�b��� ��
�	� �����`�b� �� ��� `�����`1 b�`�`b������� a� ������ (�	�� `�

��� ��� �����
����� ��`� `�� 6=5

◦
���2��2
�`�� ^676_3 Q��� ��`� a� (	������ ���

����b� ���
 s∗ref Ẽsca,n1 ��� 	�������IG���� a`b������� .b�

`�� b�`
��� 83837/

�� �'�b����	� ��
���� ^66;1 66=_1 `� �� �� ��	� b���`���� �� ��� `���b����	`����
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` a�`
�
	����� ���� ` 
��a� .a�`
 7/ `�� ` �������b� a�`
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Interferogram on silicon
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Normalized nano-FTIR spectra
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 Idet,n(d)3 W�� 
����� ��`��	`���� b`���� `


�`�� b�`��� �� ��� �������b� �`�� `bb������ �� φref = dω/c ��� �`b� �
�b��`	

�������b� ω �� ��� �������b� (�	�3 W���1 ��� �����������`
 b`� a� ������� `�

^678_

Idet,n(d) ∝
∫ (

E∗
ref (d0)e

−idω/cEnf,n + E∗
bg,0Enf,n + c.c.

)
dω, .836;/

����� Eref (d0) �� ��� �������b� (�	� `� ��� ����� 	���� 
������� d = 03 L� ���`2

���� .836;/1 ��� 
�	��
	�b`���� a`b������� �� b���`���� �� ��� ���
 E∗
bg,0Enf,n

`�� ���� ��� ��
��� �� ��� 
����� 
������� d3 K��b�1 �� ��� I������ W�`��2

���
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`�� ��3 .836=//1 b`� a� b`	b�	`��� ���
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�`��� a������ p0 `�� pi ^67:1 67=_?

αeff ∝ pi
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1
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1− βfi
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���`���� `� ��� ��� SGP .b�

`�� F�`
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�� b`� a� ����� ��`� ��� �b`������� b��*b���� σ = Esca/Ein �� 
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W�� I����� G�
�	� P���	 b`� a� �������� �� `bb���� ��� ` a�	� �`
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1 ���b� �� ��	��`�� ��� 	`���� ���� ���b����� �
`		�� ��`� ���
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�����`���� ��
�� ���� ��� �`

	� .��� F�`
��� ;/3 W�� ���b��
����

�� ��� 
���	 �� ���� ��b���� �� `�`
��� ���
 �������b� 5G��� �� G�! ^67=_3

D� �		����`��� �� ��� ����b� �� I��3 83691 ���� 
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������a����� �� ��� ��
 `
�� a� ��� 
���
�	� Q `� ����`�b� z0 `a��� ��� �`

	�

����`b�1 �� ` ��
�	`� �`� `� ��� ��� IGP3 I�� ` a�	� �`

	� b������ ���� `
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���� Φ �� ��� b�`��� Q b`� a�

99



Q

ε3

sample

ε1

ε2

z0

d

-βXQ

X

z=0
z

I����� 8369? -���1� �� ��� $�
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�/	����� P���
�	� Q `� ����`�b� z0 `a��� ��� ����`b� �� ` 	`���

���� ���b����� d3 εi ��� i = 1, 2, 3 `�� ��� ���	�b���b ���b����� ��

`��1 	`���1 `�� �`

	�1 ���
�b����	�3 W�� 
������`	 ���
���� Φ ��

��� �`

	� �� `

����
`��� a� ��� 
���
�	� −βXQ `� ����`�b�

X a�	�� ��� �`

	� ����`b�3 I����� `�`
��� ���
 ���3 ^67=_3

b`	b�	`��� a� ��	���� ��� a����`�� b��������� ��� ��� ���`	 
������`	 U `��

��� �����`���� ^67=1 68:_3 W�� ��
	�b�� ��
�������� ��� U `�� Φ `�� ����� ��

D

����� D3

D� 
�������� �� �������b� 5G��� �� G�! ^67=_1 a� ����� ��� �	�b���b 
������`	

���
���� Φ1 ��� ���
`	��
 �� ��� IGP b`� a� �������� �� 	`����� �`

	��

a� `

����
`���� ��� 
������`	 ���
���� Φ a� ��� 
������`	 �� ` 
���� b�`���

Q′ = −βXQ `� ����`�b� X ����� ��� �`

	� ����`b� .��� ����b� �� I��3 8369/3

W� �����
��� βX `�� ��� 
������� X �� ��� 
���� b�`��� Q′
1 ��� 
������`	 `��

�	�b���b (�	� �� Q′
�`�� �� b���b��� ���� ��� `b��`	 ���
���� �� ��� �`

	� `�

z = 0 .
������� �� 
���
�	� Q/3 H����b��� ����� a����`�� b���������1 ���b�

�� ��� 
�������� �� ���`�	 ����1 	�`�� �� ��� �

���`�� ����	� ^67=_

βX = − Φ2

Φ′

∣∣∣∣
z=0

.837;/

`��

X =
Φ

Φ′

∣∣∣∣
z=0

− z0. .837</

W���� ��
�������� ��� βX `�� X b`� a� ���� �� ������ ��� IGP �� 	`�����

�`

	�� a� ��`	�`���� β0,i
X `�� X0,i

��� Q0 `�� Qi1 ���
�b����	� .b�

`�� I��3
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8368 `�� H�3 .8378//1 `�� ��������� ` 
���(�� ������� �� H�3 .8379/1

f0,i =

(
g − Rt + h+X0,i

2L

) ln 4L
Rt+2h+2X0,i

ln4L
Rt

, .837=/

`�� β0,i
X ���� ��� ��
������� ��� ��� �'�b���� 
�	`���`a�	��� αeff �� H�3 .837:/3
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W��`����� .WK�/ �`��`���� ^68;1 68<_1 	����	� ��(��� a������ 536 `�� 65 WK�

.�`��	����� λ = 3000 − 30 µm/^68;_1 b`� `bb��� ��a�`����`	 `�� ���`����`	

�����`�b�� �� 
�	�b�	��^6>1 68=1 68>_ `�� 	��2������ ���`
�b 
��b����� ��

��	��2��`�� 
`���� �� ����b��^68>�696_3 I�� 
`�� `

	�b`�����1 ` ������ WK�

(�	� b��b����`���� �� ��������1 ��� ��`

	�1 ��� ����2����	����� WK� �
`����

�� ��� WK� ������� �� �
`		 `
����� �� 
`���� ^68;1 68=_3 W��� b`� a� `bb�
2


	����� a� ��b����� WK� �`��`���� ����� �`�2(�	� �
��b�3 K������1 ��� ��b`	

9<



�
�� ���� �� 	�
���� a� ��'�`b���� �� `a��� λ/2 = 15− 1500 µm3 D �`���b`	�

(�	� b��(��
��� b`� a� `b������ a� b��b����`���� WK� �`��`���� ���� ���

��� �� 
��`	 `�����`� ^6971 698_1 ��`�
 
��`	 ����� ^8=1 68=1 699�69;_1 ��

��a�`��	����� `
������� �� �	��� ^68=1 69;�69=_3 L� 
`���b�	`�1 ��� WK� (�	�

b��b����`���� `� ` ��`�
 ��
 `
�� b`� a� `b������ a� ��
	������ ��� 	��������

��� �'�b�1 �� a� `��`a`��b b�

������� �� `� �	�b���
`�����b �`�� 
��
`�`����

`	��� ` 	���1 �`
���� 
��`	 ���� ^8=1 69:1 69<1 69>1 6:5_3 I��	� b��(��
����

`� 	`��� `� λ49;55 �`�� a��� `	��`�� ��
����� ^6:6_3 D

	�b`����� �� ��`�2(�	�

���`�b�
��� `� �`���b`	� 
��`	 ��
� ��b	��� ��� WK� b�����	 �� 
�����
������

^6:7_1 �`���b`	�2����	��� WK� �b`�������2��
� �b`����� ��`�2(�	� 
�b���b�
�

.�2VQRP/ ^881 8<1 6:81 6:9_1 �	��`�`�� ��a2b�b	� WK� �`��2�
�b����b�
� ^6::_

�� WK� 
����b������ �`���b�
� ^6:;_3

L� 
`�� ��
���
����1 ��� �		�
��`��� 
��`	 ��
 �� 
�b� 	����� ��`� ���

WK� �`��	����� λ1 �� ����� �� ��`�`���� ������ ��`�2(�	� ���`�b�
���� `��

�b`������� ���
 ��� ��
3 I�� ��a�`��	�����2�b`	� WK� �
`����1 ��� �`���� 	���

��
� �� ` �b`����� �����	��� 
�b���b�
� .VWP/ ^6:;�6:=_ b`� a� �

	����3 L�

��� b`�� �� ���b����b���� �`

	��1 ��� 	��� 
��`	 ��
� b`� a� �b`���� ����

��� �`

	� ����`b� ��` ���`�2���b� b�����	 ��`� ���	���� ` ������ ���� ^6:>1 6;5_3

D	����`����	�1 ��� ��
� �� ��`��`�� DIP b`���	����� 
`� a� ���� ��� WK� ��`�2

(�	� �
`���� ^8<1 6::_3 Z��	� ���� `

��`b� b`� a� 
�����
�� ���� ��`��`��

`�� �`��2��2��� DIP ������
���`����1 ��� DIP ��
� ��'�� ���
 	�� (�	�

���`�b�
��� ��� �� ��� 	`��� 
��
`�b� a������ ��
 	����� .� λ/ `�� WK�

�`��	����� λ3 DIP ��
� �� ` 	����� �� ��� ����� �� ��� WK� �`��	������


������`		� ����a����� ���
����b `�����` �����`�b�� ��`� 
������ 	`��� (�	�

���`�b�
���� �`�� ��� a��� ����	�
�� ���1 ���
��� ����� `��`��`�� �� ��`a	�

�`���b`	� WK� b�����	 `�� �
`���� `

	�b`����� a`��� �� ����	� `�`�	`a	�

DIP ������
���`����3

L� ���� ������1 �� ����	�
�� b`���	������ `�����` 
��a�� ���� �`���b`	� ��


`
�� ��� �����`�� �`��2��b����� �� WK� �`��`����3 W���� 	������ ���� ��������

�� ��

��� `�����` 
���� �� �����`��	� ���`�b� ��� WK� (�	� `� ��� ��
 `
��3

Z� `��`b��� ��� `�����`� �� ��`��`�� DIP b`���	����� �� `		�� ��� ` 
��b���

b�����	 �� ��� 
������� �� ��� WK� ����
�� �� ` �`

	� ����`b� ����� ��`�2

�`�� DIP ������
���`����3 W� b�`�`b������ ��� `�����` 
��a��1 �� 
�`�����

��� ��`�2(�	� ��������� ����b�	� `� ��� ��
 `
�� ����� ` ��`
����2a`��� WK�


��������b��� ^;91 6;6_1 �`���� ��`� ����b��� �� a� ����b���� ��� ��
2�b`������
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3 μm 100 nm 25 μm

I����� 936? I`	�� b�	�� VHP �
`�� �� ` ILE �`a��b`��� WK� `�����` ��
 ����2

��� V� b`���	���� .�����/1 ILE ��
������ S� .
��
	�/ `�� ��� S�4L�

`�����` ��
 .��		��/3

	���� �� ��� �`� (�	�3 Z� (�� ��`� ��� ��
� ��

��� `�����` �����`�b�� `��

b����a��`�� ��� (������ ���� ��
���b`	 ��
�	`����� `�� `�����` ������3
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I��3 936 ����� ` �`	�� b�	�� �b`����� �	�b���� 
�b���b�
� .VHP/ �
`�� �� `

ILE �`a��b`��� WK� `�����` 
��a� ����� ` K�	��� 9:5 G�`	E�`
 .IHL1 Q�����2

	`���/ �	�b���� 
�b���b�
� ^<81 6;7_3 W� �`a��b`�� ��� WK� `�����` 
��a�� ��

��� ��`��`�� V� DIP b`���	����� .:G
������1 
���	 .���� :0>1 V������	`��/

`�� ��
	`b�� ��� ������`	 ��
 a� ` �����`	 ���� �� 
�b��
����� 	��� ��	�� 
��`	

��
3 W� �		����`�� ��� �`a��b`���� 
��b���1 �� ���� �� I����� 937 VHP �
`���

�� ��'����� �`a��b`���� ���
�3 D� a`��� �� ���� ��� V� DIP b`���	�����1 �����

�� (��� b�	�����b`		� ��
��� ��� ��
 `� ����� �� I����� 937 `/ `�� a/3 W���1

` ���� `�
�b� �`��� b���b`	 ��
 �� 
�		�� ��� �� ` ��	�� S�=54L�75 ���� .��

	���

a� .���
� >���G�I� 9G����G��1 H��	`��/ .I��3 937 b/1 b�� `� ��� ������� 	�����

`�� (���� ���� ��� b�	�����b`	 ����� �� ��� V� b`���	���� .I��3 937 �/3 W��

b��� �`� `��`b��� a� ILE ����b�� ��
������� �� 
	`����
 .
��
	�1 I��3 936/3

I��`		�1 �� `b����� ` ���� (�	� b��(��
��� `�� ���`�b�
���1 ��� ��
 `
��
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a)

c) d)

b)

15 μm 15 μm

30 μm 30 μm

I����� 937? L		����`���� �� ��� ILE �`a��b`���� 
��b��� �� �����`�� WK� `�����`


��a��3 `/ V����`	 b���� b�� ���
 ` 67: µm ���b� S�4L� ����3 a/

F�

��b�`	 V� DIP ��
 .Q`��Z��	�1 D���� QFU/3 W�� ��� a�`


�� 
���� `	��� ��� ��� �`���� 	��� �� ��
��� ��� ������`	 ��
 b/ V�

DIP b`���	���� ���� ��
 ��
����3 �/ D 
��2
�		�� S�4L� b��� ��

(���� ���� ��� 
��
`��� b`���	���� `�� `��`b��� ����� ��b���� ���

a�`
 ��
������� �� S�3

�`� ��`�
���� `�� `������� �� ` ��`
���� �� .:5 ± 8 �
/3 W��� �`� `b������

a� b��b�	`� ��� 
�		��� `	��� ��� ��
 `���1 ���	� 
��������� ��� `
�� ��`
����

���� ��� �	�b���� a�`
 `�� `�������� ��� 
�		��� 
`�`
����� ��b� `� ��� ���

a�`
 b������3 W�� �`	�� �� :5 �
 �`� b����� ��� �� ��� ���� ��
����b�a�	���

`�� a����� b�

`�`a�	��� ���� ��`��`�� S�4L� b�`��� DIP ��
�1 ���b� �`�� `

��
�	`� `
�� ��`
����3 L� 
���b�
	� ` ������� ����b���� �� ��� ��
 `
�� ��`
�2

��� a�	�� 65 �
 �� 
����a	� ^<:_3 L� ���`	 �� �`a��b`��� ��� ��'����� ��
� ����

	������ 17 µm1 33 µm1 43 µm1 55 µm1 65 µm1 `�� 78 µm .��� I����� 938/1

�� ����� �� ����� ��� ��`�2(�	� ��������� `� ��� ��
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�� `� ` ���b���� �� ��
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W� b�`�`b������ ��� b`���	������ WK� `�����`�1 �� �

	���� ���
 `� �b`�����


��a� ��
� �� ` �b`�������2��
� Vb`����� Q�`�2(�	� R
��b`	 P�b���b�
� .:�G 

���I 4	H51 
���	 � ?:;91 J��
`��/1 `� ���b��a�� �� F�`
��� 83 W�� ��
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��b�		`���� �����b`		� `� ��� 
�b�`��b`	 �����`�b� �������b� Ω ���� ��b�		`����
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	����� �`� 95 �
3 W�� ��
� ���� �		�
��`��� ���� ��� ��b���� WK� a�`
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� 6
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XVD/1 ���b� 
������� 
���b���
`��b �`��`���� �
 �� 655 
Z 
����3 L� b��2
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Vb��
`��b� �� ��� WK� ��`�2(�	� ����b���3 W�� 	`��� �		�
��`���

`�����` 
��a� b��b����`��� ��� 	���� �� ��� ��`�2(�	� ������ ��

��� ��
 `
��3 W�� ��`�2(�	� ����b�� 
����b������ �� ��� �EQ2

��`
����2�EQ ����������b���� �� ����b��� ������� ��� ��� 	`���`	

b���`b��1 FL `�� FR3 D

	���� ��	�`��� YL `�� YR �� ��� ���

a`b��`���1 JL `�� JR1 `		��� ��� �� ��
`�`��	� b�����	 ��� b`�����

b��b����`���� �� ��� ��`
���� �� ��� 	��� `�� �� ��� ����� �� ���

�`
 a������ ���
3 a/ DIP ��
���`
�� �
`�� �� ��� WK� ��`�2

(�	� ����b���3 b1�/ L
`��� �� ����b� .
����/b������ .GF/1 IPC,DC

`�� 
����b������ ��b����� `� �������b� 6Ω IPC,1Ω3 W�� �����4��`�

�`���� ��������`	 	���� 
`�� ��� ���� �� ��� ��`
���� ����b�3 W��

a	`b� b���� ������(�� ��� 
������� �� ��� 
�`����� `

��`b� b�����

����� �� I��3 93;3 W�� ��������`	 �`���� a	`b� 	��� 
`��� ��� 	���


��(	�� �� I��3 93=3

��`�� �� ��`��`�� �2VQRP1 �� ��� ��� ����b� ��� ��
2�b`������ (�	� a�� ����

` ��`
����2a`��� WK� ����b��� ^;91 6;8_ .�		����`��� �� I��3 939 `/ �� 
�`����

��� ��`�2(�	� ��������� ����b�	� `� ��� ��
 `
��3 W�� ����b��� ����b� ^;91 6;8_
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�`� �`a��b`��� a� \�`��` J`� `�� M`
�� K��� ���
 F�	�
a�` X��������� ��

Q�� \��� F��� .XVD/1 `�� N���� Z`�`�`a� `�� W`�`��� W`����b�� ���
 ���

Q`����`	 L�������� ��� P`����`	 Vb���b� �� W����a`1 M`
`�1 `�� b������� �� `

��`
���� ����� ��b`
��	`��� a������ ��� 	`���� .> �
 ��
1 7< �
 a����
/ ��

���`���`	 E���� Q������ .�EQ/3 W��� �EQ2��`
����2�EQ ����������b���� ��


	`b�� �� ��
 �� ��� ��	� a`b��`���1 ���b� `�� 	`���`		� ��
`�`��� a� ` �`


�� 6:5 �
3 E� `

	���� ��	�`��� VL `�� VR �� ��� �`���1 ��� b`����� b��b��2

��`���� �� ��� ��`
���� b`� a� b�����		�� ��
`�`��	�3 L� ��� ��
���
��� ��

�`�� b����� ��� b`����� b��b����`����� nL/R = +/ − 2.6 × 1011cm−1
1 ���	����

` ��`�
 
�2���b���� `b���� ��� �`
 a������ ��� ��� �`���3 Z��� ��� ��
 ��


	`b�� `a��� ��� �`
1 ��� ��`� (�	� `� ��� `
�� 	�b`		� ��`�� ��� �	�b����� ��

��� ��`
����1 ���	���� ` 
����b������ IPC `bb������ �� IPC = (SL−SR) ∗∆T

^;91 6;81 6;9_3 K���1 ∆T �� ��� 	�b`	 ��

��`���� ��`����� a�	�� ��� ��
 `��

(SL−SR) �� ��� 	�b`	 �`��`���� �� ��� V��a�b� b��*b���� S .�� ��� ����b� �����2

`��� a� ��� ������ b`����� ������� ��`����� �3�3 ��� 
�2���b���� `a��� ��� �`
/3

W�� 
����b������ IPC �� 
�`����� ��` ��� ��� 	`���`	 ����b� `�� ��`�� ��	�

b���`b�� FL `�� FR1 `�� �� ����� �� a� 
��
������`	 �� ��� ��`�2(�	� ���������

^6;:_ ��� ��� 
���� `

	��� �� ��� ��
���
����1 `� ����� �� I��3 93:3 W���1 ���

(��� �`�� ��	�`���1 ��� 
����b������ IPC �� 
��
������`	 �� ��� ��

��`����

��`�����1 ���b� �� ���� �� 
��
������`	 �� ��� ��`�2(�	� ��������� `� ��� ��


`
�� ^6;;_3 E� �

	����� ���� ���� �� ��`�2(�	� ����b���1 ��� ����b� ����b����

�� ��� ��
�- ��`� (�	� �'��� ��� `��`��`�� ��`� ��	� ��� ��
 �		�
��`���� �����

�� a� `�������3 W���� �� �� ���� ��� ` ����b���� a�`
 
`�� `� �� �2VQRP ��2


���
����1 ���b� ��
�b`		� b�

����� `� ���������
���� ^79_ ��`� �������� ���

��	� `bb��`�� `�����
��� �� ��� b�		�b���� `�� ����b��� �
��b�1 a�� `	�� �� ���

a�`
 ��`	��� `�� �`��������3 W��� �����(b`�� ����b���� �� `�����
��� ���
�

��`a	�� ` 
��� ��	�`a	� `�� `bb��`�� b�

`����� �� ��� ��`�2(�	� ���`�b�
���

`� ��� `
�� �� ��'����� ��
�3

����� &��� �� 	�*�(
�*(� �
���
���� (
� & �


(
����*���
� *(�()�������

Z� (��� ��
�����`�� ��`� ��� `�����` 
��a�� `		�� ��� ��`a	� DIP �
`����

`�� �`���b`	� WK� ��b�����3 W� ��`� ���1 �� ��b����� ` ��
���`
�� �
`��

.I��3 939 a/ �� ��� ����b��� ����b� .����� ��� <= µm 	��� `�����` 
��a�/1
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I����� 93:? '�
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 ����
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1� �� ��� �����1�

�
� IPC �
 ��� .%�

�/��
 ����	�
/���
 ����
� W�� a	`b� ���� `�� 
�`����� �`�`


����� `�� ��� ��� �`���� 	��� �� ` 	���`� 	�`��2���`��� (� �� ���

�`�`3 W�� `���� 
`��� ��� 
���� `

	��� �� ��� ��
���
���3

������� ��� ��
 ����`b� .�EQ 	`���/ �� ��� ����b��� `a��� ��� `b���� ������1 `�

��		 `� ��� 	`���`	 D� b���`b�� .	��� `�� �����/ ��`� b�		�b� ��� 
����b������3 L�

b	�`�	� ����(�� ` ��`a	� DIP �
��`���� ����� ��� WK� `�����` 
��a��1 ���
���

����� b�

`�`a	� 	`��� ���� `�� ���b� 
`�� . ;5 
� B =5 ��
�� ��� 
`�� ��

��`��`�� V� ��
/1 ���b� ����b�� ��� 
�b�`��b`	 b`���	���� �����`�b� �������b�

a� ��`�	� ` �`b��� ��� .���
 7:7 �K� ��� ��� b`���	���� ���� ��`��`�� V� ��
 ��

68> �K�/3 W� ��
�����`�� ��� WK� �`��2��b����� ���b����`	��� �� ��� `�����`


��a�1 �� ��b����� ` GF 
����b������ �
`�� IPC,DC .I��3 939 b/ ��
�	�`��2

���	� �� ��� ��
���`
��3 Z� ��� ` a����� �����b`	 ����
� �� ������ 
����b������

IPC,DC �� ��� �
`�� b�����1 ���b� ����`	� ��� ������ 
����2����
��	�b���b b��2

���� �����`���� ��`� ��� 
�2���b����3 W�� ����
� �`� ` ����� �� 53; µm .��		

����� �`	� 
`��
�
/1 ���b� ����(�� ��`� ��� WK� �`��`���� b`� a� ��b���� a�

��� ��
 �� ` ���
	� ��a�`��	����� �b`	� �
��3 I������1 �� �a����� ` ������ 
��2

��b������ IPC,DC b	��� �� ��� 	`���`	 ����b� `�� ��`�� b���`b��3 L� `����� ���


` 	���2��(��� 	�b`	 ��
��� �� ��� ��`
���� ��`� ��� b���`b�� ^6;<1 6;=_3 W��


����b������ `a��
�	� ���
� �� ` b����`�� a`b������� �`	�� .��� ���b������ ��

��		����� 
`�`��`
�/ `� ��� ��`
���� ���� .
`���� a� ��� ����� �`���� 	���

�� I��3 939 b/ `�� `� ��� 
��`	 b���`b��3 I��
 ��� ����`	 b�`��� `� ��� b���`b�

�� ����
`�� �
`��`	 ����	����� .�3�31 	`���`	 (�	� b��(��
��� `� ��� ��
 `
��/

�� `a��� 655 �
 .λ46555/1 ��������� ��� b��������� �� ��b�
��� WK� �`��`����

���� ` ����	� b��(��� �`��2��b�� `� ��� ��
 `
��1 `�� ���b� ��� ���b����`	���

�� ��� ��
� `� ����2����	����� WK� ��`�2(�	� 
��a��3
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I����� 93;? +����1�

�
� /� / ��
1���
 �� ��������1��
 ����/
1�� `/ GF


����b������1 IPC,DC 1 `�� ��
���	`��� 
����b������1 IPC,1Ω `��

IPC,2Ω3 a/ GF 
����b������ `���� a`b������� ��a��`b���� ∆IPC =
IPC,DC − IPC,BG1 ��� ��
� �� 	������ L = 78 µm .���/ `�� 17 µm
.a	��/3 W�� ����� ����� ��� ��
���b`		� b`	b�	`��� �	�b���b ��`�2

(�	� ������a����� `����� ��� `
�� �� ` 78 µm 	��� `�����` ��
3

I�� ��`�������� ��� �����b`	 (�	� b��(��
���1 �� ��b����� ��� 
����b������

IPC,DC `� ` ���b���� �� ����`�b� � a������ ��
 `�� ����b��� .��	�� ��� b����

�� I��3 93; `/ `� ��� 
������� 
`���� a� ` a	`b� b���� �� I��3 939 �3 W�� 
��2

��b������ IPC,DC ��b`�� �`
��	� ���� ��b��`���� h3 I�� 	`��� h �� `

��`b���

`��

����b`		� ��� b����`�� �`	�� �� 838 �D1 ���b� �� `����� �� ` a`b�������


����b������ IPC,BG ��`� �� �����`��� a� ��� ��'�`b����2	�
���� �		�
��`���� ��

::



��� ���	� ����b�3 N������ IPC,BG1 �� b`� ����`b� ��� ��`�2(�	� b�����a�����

∆IPC = IPC,DC − IPC,BG �� �����
��� �����b`	 b��(��
��� .64� ��b`� 	�����

d/ �� ��� WK� ��`� (�	� .I��3 93; a/3 Z� 
�`���� d A 7= �
1 ����`	��� ` ���


��a�`��	�����2�b`	� �����b`	 (�	� b��(��
��� `� ��� ��
 `
�� .`
������� ��

`a��� λ48:55/1 ���b� `����� ��		 ���� ��� ��
���b`		� b`	b�	`��� ��`�2(�	�

������a����� `� ��� ��
 `
�� .:5 �
 ��`
����/ �� ` <= µm 	��� S� ��
 .����� ��

I��3 93; a/3

L����������	�1 ��� a`b������� b�����a����� .IPC,BG = 3.3 �D/ �� ��
`��`a	�

�
`		 b�

`��� �� ��� ��`�2(�	� ����`	1 ∆IPC = 15.1 �D1 ���b� ��
�b`		� ��

��� ��� b`�� �� �b`�������2��
� `�� ��
2���`�b�� ��`�2(�	� ��b�������3 Z�

��
	`�� ���� (����� a� ��� �
`		 `b���� `��` �� ��� WK� ����b���1 ���b� ��

�����(b`��	� �
`		�� ��`� ��� WK� ��b�� �		�
��`���� ��� ��
3 W�� �
`		 a��

���2���	���a	� a`b������� ����`	 b`� a� ��		� ��

������ a� ��
���	`���� ���

����b��� ����`	 `� �`�
���b� nΩ �� ��� ��
 ��b�		`���� �������b� Ω .��
�	`� �� �2

VQRP `�� ����`��� 
����b������ �`���b�
� ^8<1 66;1 6;;_/1 ���	���� ��� ����`	

IPC,nΩ3 U�b������ IPC,nΩ `� ` ���b���� �� ��
2����b��� ����`�b� h ��� n = 1

`�� 2 .�`���� ��� b����� �� I��3 93; `/ ������ ����� ��`� ��� ��
���	`���


����b������ ����`	 b�

	���	� �`������ ��� 	`��� ��
2����b��� ����`�b�� h3 G��

�� ��� +�����`	 ��
2��`�
�����+ �'�b� a� ������ �`�
���b ����`	 ��
���	`����

^961 6;>_1 �� 
�`���� ` ��b��`���� 64� ��b`� 	����� �� d1 = 17 �
 .λ/5600/

`�� d2 = 9 �
 .λ/10500/ ��� n = 1 `�� n = 21 ���
�b����	�3 W�� ��
���	`����

`	�� `		��� ��� a`b�������2���� 
����b������ �`��2�
`����1 `� ��
�����`���

�� I��3 939 � .��
���	`���� `� n = 1/1 ����� ��� 
����b������ ���
� ��

IPC,nΩ = 0 �D �� ��� 	`���`	 D� b���`b�� `�� �� ��� V�R2 ��a���`�� .�����

`��`� �� I��3 939 �/3

����� '�
��*(���
 �� (
��

( 
���
(
*��

K`���� ����(�� ` 
��
�� DIP �
��`���� `�� WK� �`��2��b����� b`
`a�	���

�� ��� ILE2�`a��b`��� ��
�1 �� b�

`�� �� ��� ��		����� ��� ��`�2(�	� �����2

���� `� ��� `
�� �� ��'�����	� 	��� ��
�3 L� I��3 93;a �� b�

`�� ∆IPC,DC

`� ` ���b���� �� ��
2����b��� ����`�b� h ��� ` <= µm `�� ` 6< µm 	��� ��
3

W�� 
�`����
���� ���� �`��� `� ��� �`
� 
������� �� ��� 
��������b���1


`���� a� ` a	`b� b���� �� I��3 939� .:3: µm ���
 ��� ����b� ���� `	��� ���


�2���b����/3 Z��	� ��� a`b������� ����`	 ∆IPC,DC `� 	`��� ����`�b�� h ��

b�

`�`a	� ��� a��� ��
�1 �� �a����� `� b���`b� .h = 0 �
/ ` �����(b`��	�

:;
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I����� 93<? "! �����1�

�
� ��
� �
������ `1a/ S����b������ ∆IPC 	���


��(	�� �`��� `	��� ��� �`���� 	��� �� I��3 939� ����� 33 µ
1

51 µ
1 `�� 78 µ
 	��� `�����` ��
� `� ��b����� .`/ `�� `����

I������ (	������ .a/3

���`�b�� 
����b������ ��� ��� <= µm 	��� ��
3 I�� 
��� ���`�	�� �������� ����

��� ��
�����b� �� ��� ��`�2(�	� ��������� ���`�b�
��� �� ��� ��
 	�����1 ��


�����
�� 
����b������ 
�`����
���� ���� ��� ��'�����	� 	��� ��
�3 W� ��`�

���1 �� ��b����� 	��� 
��(	�� �� ∆IPC .`���`�� �� 6551 
`���� �� I��3 939 �

a� �`���� a	`b� ��������`	 	���/ `b���� ��� 
�2���b����3 W�� ��b������ �� 	���


��(	��1 �`���� ��`� `

��`b� b�����1 �'��� ��� `��`��`�� ��`� 
�`����
���

������ ��� �� ��b���`������ �� ��
 
���������� b`� a� 
���
����3 Q��� ��`� ��

��� ��� `�`	��� ��� a`b�������2���� ��
���	`��� 
����b������ ����`	� IPC,nΩ1

���b� ���� �� ��� ����`	 ��� ��`�2(�	� ��������� a�� ��� �����b`	 ��`������ ��

��� ��`�2(�	� ���������3 L� I��3 93< ` �� 
	�� ����� 	��� 
��(	�� ������� ���

��`�2(�	� 
����b������ ∆IPC �a�`���� ���� ��
� �� 	����� L = 17 µm1 33 µm1

`�� 78 µm3 G����� ��� 
�`����
��� �� ��� GF `

��`b� b����� .I����� 93;/

`�� ��� 	��� 
��(	�� .I����� 93=`/1 ` 
������b ����� �� :5 K� b��	� ��� ��		� a�

�	�
��`���3 W� (	��� ��� �`�`1 �� ���� I������ `�`	����1 ����� (��� ��� ���
�b2

���� �`�` ��� �`� I������ ��`�����
��3 L� ��� I������ ��
`��1 �� ������(�� ���

�������b�1 �01 b�����
������ �� :5 K� `�� ��
���� ��� ���
�b���� �`�` 
�����3

W�� ��
���� �`�` 
����� ���� ��
	`b�� a� ` 	���`� �����
�	`���� a������ ���

��� `��`b��� 
�����3 I��`		�1 ��� ������� I������ ��`�����
`���� �� ��� ����	�2

��� �`�` ��� ���	�� ��� 
�������� GF `

��`b� b����� .I����� 93;a/ `�� 	���


��(	�� .I����� 93< a/3

D		 ����� 
����b������ ∆IPC 	��� 
��(	�� �� I��3 93< ����a�� ` 
`��
�


��`�2(�	� 
����b������ ∆IPC,max `� ��� 
������� �� ��� 
�2���b���� .� A 5

�
/1 `�� ��b`� �� ������ ���� ���`��� ��� ����b� `�� ��`�� b���`b��3 D� ����
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����b������ ∆IPC,max `� ` ���b���� �� `�����` 	����� .a	�� ����/

b�

`��� �� ��
���b`	 ��
�	`���� �� ��� ��`�2(�	� ��������� ��2

�`�b�
��� `� ��� ��
 `
�� .a	�� ��	�� 	���/3 W�� �����b`	 `��� �� ���

��
���b`	 ��
�	`���� �`� 
`��`		� `������� ��b� ��`� a��� `����2


��� �� ��� ��
���
���`	 �`�` 
����� �`� �a�`����3 a/ V���b� ��

��
���b`		� ��
�	`��� ���
���� .��� 
��� ���`�	� �� �b��
`��b� F

�� I��3 93;`/ ������� ��� ��
 .��`�/1 ��� ��	�b�� b`���	���� .�����/1

`�� ��� ����b��� ����b� .
��
	�/3 b/ H	�b���b ��`�2(�	� ������a�2

���� .	��`����
 �� ��� �	�b���b (�	� ���`�b�
���/ �� L = 35 µm
`�� 80 µm 	��� ��
�1 ������� ��� (��� `�� ��b��� ����`
���`	

`�����` �����`�b�3

a����� �� I��3 93;b1 �� (�� ` ������ �`��`���� �� ��� ��`�2(�	� 
����b������

��� ��� ��'����� ��
�3 S	������ ∆IPC,max `� ` ���b���� �� `�����` 	����� L ���

��� ��� ��'����� ��
� .a	�� ���� �� I��3 93=`/1 �� (�� ��`� ∆IPC,max ������	�

��
���� �� ��� ��
 	����� L1 ����b`���� 
���
` `�� 
`��
` `�� ���� `�����`

�����`�b��3 W�� 	������ `�����` 
��a� .L = 78 µm/ ���	�� ��� ���������1

��`�	� ����2��	� ��`�2(�	� ��������� ���`�b�
��� b�

`��� �� ��� ��������

��
 .L = 17 µm/3 Q��� ��`� a��� ��� ��
 	����� `�� ��� ��
 `
�� ��`
����

�����
��� ��� 
����b������ ����`	3 D 	`���� ��
 ��`
���� ����b�� ��� 	`���`	
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I����� 93>? F`	b�	`��� 	`���`	 (�	� b��(��
��� a�	�� ��� ��
 `
�� .:5 �
 ��2

`
����/ ��� 	����� L = 35 µm `�� 80 µm3 I�� a��� ��
�1 ��� (�	�

���`�b�
��� �� ��������� ����� a�	�� ��� ��
 `
��1 `�� ��b`�� ���

	`���� 	`���`	 ����`�b��1 ���	� ��� 
`��
�
 (�	� ���`�b�
��� ��

��'����� ��� ��� ��'����� ��
�3 K������1 ��� 	`���`	 (�	� b��(��2


��� �� ����
������ �� ��� ��
� 	����� ��� b����`�� `
�� ��`
����

.:5 �
/3

(�	� b��(��
��� a�	�� ��� ��
1 ���� �		�
��`���� ��� ����b��� �� ` 	`���� `��`1

���	� ��� (�	� ���`�b�
��� �� ����b��3 I�� ` b����`�� ��
 ��`
����1 �� b`�

a� ����� ��`� ` �`��`���� �� ��� ��
 	����� ��	� �`���� ��� (�	� ���`�b�
���

a�� ��� ��� (�	� b��(��
���1 `� b`� a� ���� �� I��3 93>3 I��3 93> ����� ���

b`	b�	`��� ��������`	 .`	��� ��� �2`��� ����� a�	�� ��� ��
/ 	��� 
��(	� �� ���

(�	� ���`�b�
��� ��� ��
� ���� 	����� L = 35 µm `�� 80 µm3 I�� a��� ��
�1

��� (�	� ���`�b�
��� �� ��������� ����� a�	�� ��� ��
 `
��1 `�� ��b`�� ���

	`���� 	`���`	 ����`�b��1 ���	� ��� 
`��
�
 (�	� ���`�b�
��� �� ��'����� ���

��� ��'����� ��
� .8;55 ��� L = 35 µm `�� 9<55 ��� L = 80 µm/3 K������1 ���

	`���`	 (�	� b��(��
��� �� ����
������ �� ��� ��
� 	����� ��� b����`�� `
��

��`
���� �� :5 �
3 K��b�1 �� b`� ���	`�� ��� �'�b� �� ��� `�����` 	����� .(�	�

���`�b�
���/ �� ��� 
����b������ a� `�������� ��� `
�� ��`
���� �� �`b� ��


�� ��� �`
� �`	��3 I�� ��� 
�������� ��
���
����1 �� �`a��b`��� `		 ��
� ����

` ��`
���� �� :5 �
1 ���b� �`� ����	� ��
����b�a	� ���� `� `bb��`b� �� ±8

�
3

W� �	�b��`�� ��� �`��`����� �� ��� ��`�2(�	� ���`�b�
��� ��� ��'����� ��
�1

�� 
�����
�� ��
���b`	 ��		2�`�� ��
�	`����� �� WK�2�		�
��`��� ��
� ���� `

���
���� `� ��
�b��� �� I��3 93=a .��� 
��� ���`�	 ��� �b��
`��b� F �� I��3

9365`/3 W�� ��
���b`	 ��
�	`����� ���� ���� ����� ��� b�

��b�`	 �����`��

F�
��	 .V��b���	
1 V�����/ a`��� �� (���� �	�
��� 
������ �� ��� �������b�

:>



��
`��3 L� `		 ��
�	`�����1 ��� b���b`	 ��
 �`� `� `
�� �`���� R = 20 �


`�� ` �`��� 	�����4����� A =1 ���b� �� ���� `

����
`���� ��
������� ���

��
���
���`		� �`a��b`��� ��
�3 I�� ��� 
��`	 �� ���� ` ���	�b���b 
��
��������

�� S� εPt = −5000 + i ∗ 12000 ����	���� ���
 ` G���� 
���	 (� �� �������b�

^6<5_3 W�� 
`�� �� ��� b`���	���� �� ���b� ��� ��
� ���� `��`b��� �`� ��
�	`���

`� ` 
��b� �� ��	�b�� �� ; µm ���b����� .�a�`���� ���
 VHP �
`��/ `�� : µm

	����� `�� �����1 `�� ��� 	����� `�� ����� ���� b����� �� �a�`�� b��������b�

�� ��� ��
���b`	 ��
�	`�����3 W�� ��
 �`� �		�
��`��� a� ` 
	`�� �`�� Ein ����

�`��	����� λ = 96.5 µm .8366 WK�/ `� `� `��	� �� ;5

◦
��	`���� �� ��� ��
 `���1

���� ��� �`

	� 
	`b�� 75 �
 a���`�� ��1 ���	� ��� �	�b���b (�	� ���`�b�
���

Enf �`� b`	b�	`��� 65 �
 a�	�� ��� ��
 `
��3 W�� ��`
���� �`� ��
�	`��� `�

` b����b���� 7G 	`��� ���� ` I��
� ������ EF = νF ∗� ∗
√
|n| ∗ π ≈ 500 
�Y1

` ��	`�`���� ��
� τ = µEF

ν2F
≈ 1.2 
�1 ���� I��
� ��	�b��� νF = 108 b
 �

−1
1 `��

b`����� ����� ������� n = 6.57 ∗ 1012 b


−2
3 Z� `���
�� ���� ��`	��� ��`
����

���� ` 
�a�	��� �� µ = 40000 b


2
4Y∗� ^6<6_3 W�� �`�� ��	�`��� ���� b��������

�� b`����� ����� ��������� ��` nL,R = (0.73∗1016m−2V −1(VL,R−VCNP ))3 VCNP =

0.15 Y �� ��� �`�� ��	�`�� `� ��� b�`��� �����`	��� 
���� .FQS/1 ���b� �`�

�����
���� a� ��`
����� ��� �`�� ��
�����b� �� ��� ����b�3 W�� b��*b����

0.73 ∗ 1016 �`� b`	b�	`��� `� ��� ��`��b b`
`b��`�b� �� ��� 7< �
 ���b� �EQ

a����
 	`��� ���� ���	�b���b b����`�� 83:; ^6<7_3

W�� a	�� b���� �� I����� 93=` ����� ��� b`	b�	`��� ��`�2(�	� ��������� ��2

�`�b�
��� f =
(

Enf

Ein

)2

a������ ��
 `�� �EQ ����`b� .65 �
 a�	�� ��� ��
/3

D� ��b�		��� `����
��� ���� ��� ��
���
���`		� 
�`����� ��`�2(�	� 
����b��2

���� .a	�� ����/ �� �a������3 S`���b�	`�	�1 ��� b`	b�	`���� ����a��� ��� 
`��
`

`� ��
 	������ �� `a��� Lres,1 = 34 µm `�� Lres,2 = 81 µm3 W�� 	��`����
 ��

��� ��`�2(�	� ������a������ ����� �� I��3 93=b 	�� �� �������� ��� 
`��
` `�

(��� `�� ��b��� ����� `�����` �����`�b�1 ���
�b����	�3 W�� 	`���� �� ��b����

a�b`��� �� ���`��`���� `	��� ��� ��
 `���1 b`���� a� ��� ��b	���� �		�
��`����

��	`���� �� ��� ��
 `��� ^6<8_3 W�� ��� �����`�b�� ���	� `� �

������� (�	�

��������� ���`�b�
��� �� `a��� 1.2 × 107 `�� 2 × 1073 P��� �

���`��1 ���

�����`�� ��
� ��b��`�� ��� (�	� ��������� ���`�b�
��� a� `a��� ��� ����� ��


`������� b�

`��� �� ��� 17 µm 	��� ��
1 ���b� 	����� �� ��`� �� ��`��`��

DIP ��
�3

F�

`��� �� b	`���b`	 ��
�	`� �`��� �`�� `�����`� ^6<8_ 2 ����� Lres,n =

nλ/2 ���� n a���� ��� �����`�b� ����� 2 �� (�� ��`� .�/ ��� `�����` ��
-�

;5
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I����� 9365? -�	��/���
 �� ��� .%� 
�/
����� �
�/
1�	�
�� `/ D�����`

���
������ b��������� �� ��� ��
�	`����3 D1 b���b`	 `�����` ��
@

E1 `�����` ��
 ���� V� b`���	����@ F1 `� �� 
`��	 E a�� ���� ����b2

��� ����b� a�	�� .> �
 �EQ2��`
����2a�	� �EQ/ ��
 `
��@ G1 `�

�� 
`��	 F1 ��
	`b��� ��`
���� ���� ` SHF3 a/ Q�`�2(�	� �����2

���� ���`�b�
��� `� ` ���b���� �� ��
 	�����1 ��� ���
������ D2G

��
�b��� �� 
`��	 `3

�����`�b�� �bb�� `� ������� 	������1 `�� .��/ ����� �����`�b� 	������ �� ���

�b`	� 	���`�	� ���� n .�� 
�`���� Lres,1 = λ/2.82 `�� Lres,2 = λ/1.19/3 W����

����`����� 
`� a� ��
	`���� a� �����`�b� ������ b`���� a� ��� 
�����b� ��

��� b`���	���� �� 
��������b���3 W� �������`�� ��� �����`�b� ������ `�� ��

���`a	��� ������ ������ ��	�� ��� �����`�� WK� 
��a��1 �� 
�����
�� ��
�	`2

����� b���������� ` �����
`��b �`��`���� �� ��� ��
C� �������
���3 I����1 ��

b`	b�	`��� ��� ��`�2(�	� ��������� ���`�b�
��� 65 �
 a�	�� ��� `
�� �� `�

���	`��� `�����` ��
 .�		����`��� a� ����b� D �� 9365`/ `� ` ���b���� �� ���

��
 	����� .a	`b� b����1 I��3 9365a/3 L� ���� `����
��� ���� b	`���b`	 `�2

����` ������ ^6<8_ .Lres,n = nλ/2/1 �� (�� ��� (��� ��� `�����` �����`�b��

`� Lres,1 = 44 µm = λ/2.19 `�� Lres,2 = 89 µm = λ/1.083 W�� �
`		 ��2

��`���� ���
 Lres,n = nλ/2 �� ��
	`�� a� ��� b���b`	 ��`
� �� ��� ��
 ^6<8_3

E� `����� ` ��	�b�� b`���	���� �� ��� ��
 ��`�� .����b� E �� I��3 9365`/1 ���

�����`�b� 	����� �� ��� b`	b�	`��� �
�b���
 .��� b���� �� I��3 9365a/ ����� ��

;6



Lres,1 = 34 µm = λ/2.8 `�� Lres,2 = 81 µm = λ/1.21 ���	� ��� 
�`� ������ ��

����b�� a� `a��� 7< `�� 6< 
��b���1 ���
�b����	�3 E��� �a����`����� b`� a�

��
	`���� a� ` b`
`b����� 	�`���� �� ��� ��
 `�����` a� ��� V� b`���	���� ^6<8_3

Q���1 ��� �`

	� .����b��� ����b�/ �� b��������� �� ��� ��
�	`����� .����b� F

�� I��3 9365`/3 L� �� 
	`b�� 75 �
 a�	�� ��� ��
 `
��1 `�� ��� (�	� ���`�b�2


��� �� 
�`����� 65 �
 a�	�� ��� ��
3 W�� b`	b�	`��� �
�b���
 �� ����� a�

��� a	�� b���� �� I��3 9365a3 F�

`��� �� ���
���� E .��� b����� �� I��3

9365a/1 ��� ��`�2(�	� ����������� `� ��� �����`�b� 	������ Lres,1 `�� Lres,2 `��

�����(b`��	� ���`�b�� a� ` �`b��� �� `a��� �����3 W��� ���`�b�
��� b`� a�

��
	`���� a� ��� ��`�2(�	� b��
	��� a������ ��
 `�� �`

	�3 L����������	�1 ���

��`�2(�	� b��
	��� ���� ��� ������� ����� ��� `�����` �����`�b�1 ���b� ��
�2

b`		� �bb��� `� ����a	� `�� ����`��� �������b��� ���� `� `�����` �� a������ ��

b	��� 
����
��� �� ` ���	�b���b �� 
��`		�b �`

	� ^66_3

W� a����� �������`�� ��� `a���b� �� �����`�b� ������ ��� �� ��
2����b���

b��
	���1 �� (��� ������� ��� ��	� �� ��� ��`
���� �� ��� ��`�2(�	� b��
	���3 Z�

��
�`��� ��� ��
���b`	 b`	b�	`����1 a�� ��
	`b�� ��� ��`
���� ���� ` 
����b�

�	�b���b b����b��� .SHF/ .���
���� G �� I��3 9365`/3 D	������ ��� SHF

	`��� 
����b�	� �b����� ��� ��`� (�	�� `� ��� ��
 `
��1 ��� `�����` �
�b���


.��`� b����1 I��3 9365a/ ����� ��	� ` 
���� ��b��`�� �� ��� 
�`� ������� ��

`a��� ������ 
��b���1 `�� ` 
���� �����`�b� 	����� ����� .Lres,1 = 33.5 µm =

λ/2.9 `�� Lres,2 = 80.5 µm = λ/1.2/ b�

`��� �� ���
���� F .a	�� b����1

I��3 9365a/3 W�� ����	�� �

	� ��`� ��`
���� `� WK� �������b��� `b�� `� `

��`�	� 
��`		�b ��)�b��� ��� ��� ��
-� ��`� (�	��3 W��� b`� a� ��
	`���� a�

��� b��������b� �� ��� I�����	 ��)�b���� b��*b���� ���`�� ��� ��� ��� 	`���

�`����b���� `���b�`��� ���� ��� ��`� (�	�� `� ��� ��
 `
�� ^6<9_3 F���������	�1

` ������ ��`�2(�	� b��
	��� a������ ��
 `�� ��`
���� �bb���1 	�`���� �� `

������	� ���`�b�� (�	� `� ��� ��
 `
��3 L� ���� ���`��1 ��� ��`�	� ���	���a	�

�
�b��`	 ����� �� ��� `�����` �����`�b� 
`� a� ���� 
��� ���
������3

����� ��(���*(� $� (
��

( ����
� 	����

Z� ��
	`�� ��� ���	���a	� �`

	�2����b�� �
�b��`	 ����� �� ��� `�����` ����2

�`�b� ���� ��� ��	
 �� �`��� �������b� .UI/ ������ ^6<8_3 L� ��� UI �`���1

b��b��� ������ �� `� �������`	 ���	 ��� ��� �*b���� ������ �� `�����`� `�� �`�

��b���	� a��� `��
��� ��� ��� ����a	� `�� ����`��� �
�b��`	 �`��� ^6<:�6<<_3

Z� b������� ��� ��
 `a��� ��� �`

	� `� `� `�����` `�
 .��� ��

	�b��� ` ����

;7




��`	 ���/ `a��� ` 
��`		�b ������ 
	`��3 D ����b� `�� ��� b�����
������

b��b��� 
���	 `�� ����� �� I���3 9366` `�� a3 W�� `�����` `�
 �� ���b��a��

a� ��� ��������b .��
�	�/ �

��`�b�1 ZA = RA + iXA1 ����� RA `�� XA `��

��� ��
�	�-� ������`�b� `�� ��`b�`�b�1 ���
�b����	� .��� I��3 9366�/ ^6<8_3 W��

`�����` �

��`�b� ZA = RA + iXA �`� b`	b�	`��� ����� ��`��`�� ���`�����

���
 UI `�����` ������ ^6<8_1 ���� `�����` ������`�b� RA .���	�b���� ��
�b

	�����/ `�� ��`b�`�b� XA1 ���b� `�� ����� a�

RA =
1

2

η

2π sin(kl
2
)2

{
C + ln(kl)− Ci(kl) +

+
1

2
sin(kl)

[
Si(2kl)− 2Si(kl)

]
+

+
1

2
cos(kl)

[
C + ln(

kl

2
) + Ci(2kl)− 2Ci(kl)

]}
.936/

`��

XA =
1

2

η

4π sin(kl
2
)2

{
2Si(kl) cos(kl)

[
2Si(kl)− Si(2kl)

]
−

− sin(kl)
[
2Ci(kl)− Ci(2kl)− Ci(

kD2

2l
)
]}

. .937/

C = 0.5772 �� ��� H�	�� b����`��1 k ��� �`�� ��b��� �� ��� �	�b���
`�����b

�`��1 l ��� `�����` 	�����1 D ��� `�����` ��`
����1 η ��� �

��`�b� �� ���

����������� 
����
 .��� ���� �
`b� η = 377 Ω/ `�� Si `�� Ci `�� ��� ����

`�� b����� ������`	� ����� a� Si(z) =
∫∞
z

sin(t)
t

dt `�� Ci(z) =
∫∞
z

cos(t)
t

dt3 W��

`�� �`
 a������ ��
 `�� �`

	� b`� a� b��������� `� ` b`
`b����� 	�`� ����

�

��`�b� ����� a� ^6<;_

Zgap = Rgap + iXgap = − ih

ωεD2
.938/

���� �`
 ������ h1 WK� �������b� ω1 ��� ���	�b���b 
��
�������� �� ��� �`


(		��� 
����
 ε = 1 `�� ��� ��`
���� �� a��� ��� `�����` `�
 `�� ��� �`
 D3

E�b`��� �� ��� �
�� b��b��� �
��`���� �� ��� `�����` .��� `�����` �� b����b���

�� ������� ` ����b� ��� ` ��b�����/1 ��� ��
�� �

��`�b� Zin = Rin + iXin ��

��� `�����` b`� a� b��������� `� ` ����`	 b�
a��`���� �� ��� ��� �

��`�b��

ZA `�� Zgap1 ���b� �� �		����`��� �� I��3 9366` `�� a ^6761 6<:1 6<<_3 L� ����

b��b��� 
���	1 ` �����`�b� �bb��� ��� Xin = 0 ^6<;1 6<=_1 ��`� ��1 ���� ���

;8
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I����� 9366? `1 a/ UI b��b��� 
���	 �� ` 	���`� ���� `�����` `a��� ������ ����

��
�� �

��`�b� Zin1 `�����` �

��`�b� ZA1 `�� �`
 �

��`�b�

Zgap3 b/ F`	b�	`��� `�����` ��`b�`�b�1 XA .��	�� 	����/1 `�� �`


��`b�`�b�1 Xgap .�`���� 	����/1 `� ` ���b���� �� `�����` 	�����

L ��� �`��	����� λ = 96.5 µm .���/ `�� λ = 9.6 µm .a	`b�/3

�/ F`	b�	`��� `�����` �����`�b� 	�����1 Lres1 ���
`	���� �� ���

��b��`���� �`��	�����1 λ1 `� ` ���b���� �� �`
 ������ h3 W�� �����
����� ` ��
���b`	 b`	b�	`���� �� ��� �����`�b� 	�����1 Lres1 ��� `

WK� `�����` ��
 `a��� ` SHF ����`b�3

b`
`b����� ��`b�`�b� �� ��� 	�`� b`�b�	� ��� ��������b ����b���� ��`b�`�b� �� ���

`�����`1 −Xgap = XA3

W� �������`�� ��� `�����` �����`�b�1 �� ���b��� XA `�� Xgap `� ` ���b����

�� ��� `�����` `�
 	����� L3 W�� ��� b���� �� I��3 9366b ����� XA ���

`� �		�
��`���� �`��	����� λ = 96.5 µm3 L� �`� b`	b�	`��� `bb������ �� ��3

.937/ ���
 �������b� ^6<8_1 `���
��� ` 
��`	 ��� �� ��`
���� D = 50 �
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.b�����
������ �� ��� ��
 `
�� ��`
����/3 Z� (�� XA = 0 ��� L ≈ λ/41

���b� ��
������� ��� (��� b	���� b��b��� �����`�b� �� ` b	`���b`	 UI `�����`

b�

������ ` 
��`	 ��� .�� 	����� L/ �� ` ������ 
	`��1 ��� b���������� ��� `��

�`
 ���3 D� L ≈ λ/2 �� (�� ��`� XA ��������1 ����b`���� ��� (��� �
�� b��b���

.�b`�������/ �����`�b� ^6<;_3 W� ��� ��� ��� `�����` �����`�b� ��
���� �� ���

b`
`b����� b��
	��� `b���� ��� `�� �`
1 �� 
	�� ��� b`
`b����� ��`b�`�b� |Xgap|
��� �`
 ������� �� hA 9 �
 `�� : �
 .��������`	 �`���� ��� 	���� �� I��3 9366b/3

Z� �a����� ��`� |Xgap| ��b��`��� ���� ��b��`���� �`
 ������ .�3�31 ��� �`


b`
`b��`�b� ��b��`���/ `�� ��� �������b���� a������ XA `�� |Xgap| .�����`�b�
b��������/ ������ ��� `�����` �����`�b� 	����� Lres ���
 λ/2 ���`��� λ/4 ���

������� ��b��`���� �`
 ����� .��� `	�� I��3 9366�/3 L����������	�1 ��� �����`�b�

	����� Lres ≈ λ/2 a`��	� ������ ����	 �`
 ������� `� �
`		 `� : �
 `�� ��`b���3

Ra�����	�1 ��� b`
`b��`�b� �� `� `�� �`
 	`���� ��`� : �
 �� ���	���a	� �
`		

`�� ���� ���	�� ` 	`��� b`
`b����� ��`b�`�b� ��`� �� b�

`�`a	� �� ��� ����b����

��`b�`�b� �� ��� `�����` b	��� �� ��� �
�� b��b��� �����`�b�3

Z� ���� �� I����� 9366� ��� `�����` �����`�b� 	����� Lres `� ` ���b����

�� ��� �`
 ����� h .��� b����/3 I�� h > 5 �
 �� (�� ��`� Lres �� ��`�	�

b����`�� `�� ��	� �	����	� �
`		�� ��`� λ/23 R�	� �� b	��� 
����
��� �� ���

��a���`�� .h < 5 �
/ ��� �����`�b� 	����� �`
��	� ��b��`���3 I�� b�

`�����1

�� ��
���b`		� b`	b�	`��� ��� `�����` �����`�b� 	����� �� ` 
��`	 ��
 `a���

` 
����b�	� b����b���� ������ 
	`��3 W�� ����	� .����� I��3 9366�/ b��(�
�

��`� ��� `�����` �����`�b� �� ` ��
 ���� ��� ����� ��� ��
2����b��� ����`�b��

	`���� ��`� 5 �
1 `	������ ��� `�����` �����`�b� 	����� .Lres = 44 µm =

λ/2.19/ �� �	����	� �
`		�� ��`� ��`� �a�`���� a� `�����` ������3 W��� b`�

a� `����a���� �� ��� b���b`	 ��`
� �� ��� ��
1 ���b� �� ��� b��������� �� ���

`�����` b��b��� 
���	3 E`��� �� ����� ��������b`	 ����	�� �� b`� ��
	`�� ���

`a���b� �� �����`�b� ������ �� ��� ��
���
���� `�� ��� ��
���b`	 ��
�	`�����

����� �� I���3 93= `�� 9365 a� ��� ��	`����	� 	`��� `���`�� ����`�b� h A 85 �


a������ ��
 `�� ��`
����3 Z� b��b	��� ��`� �� ������ ������ �� WK� �����`��


��a�� `�� �����
���`���� �� ����	�� ��� ����� �� b������� ��� 
����a�	��� ��

�����`�b� ������ ��	� ��� ���� �
`		 ��
2����b��� ����`�b�� ��
������ �� ��


�`����3

Z� (�`		� �� ���b��� ��� ����	�� �� ��� ����� b������ �� �
��b`	 `�����`�3

Z� ���� ��� `�����` b��b��� 
���	 �� b`	b�	`�� ��� �����`�b� ������ ��� ` 
��2

����`��� �		�
��`���� �`��	����� .λ = 9.6 µm@ ��`� b���� �� I��3 9366�/3

;:



I�� ��� �`
� `�����` ��`
���� G1 �� �a����� ��`� ` �����(b`�� ����� �� ���

�����`�b� 	����� Lres �bb��� `	��`�� `� 
�b� 	`���� �`
 ����� h3 W��� b`� a�

`����a���� �� ��� ��b��`���� b`
`b����� �`
 ��`b�`�b� Xgap ���� ��� �������b�

�� ��b��`��� .b�

`�� H�3 938/1 ���	� ��� ����b���� `�����` ��`b�`�b� XA

a`��	� b�`���� .b�

`�� ���� `�� ��� b����� �� I��3 9366b/3 Z� ���� ��`�

��� b`	b�	`����� �� ��� b������� 
	`�
���b �'�b��1 ���b� `� ������ �������b���

b`��� ������� �����`�b� ������1 `	������ ��� a���� ��� ���� b`��� ��� ���
3

��� (���+�� +	� -
	-��
�
	

L� ��

`��1 �� �`�� ��
�����`��� ��� ILE �`a��b`���� �� ��`�
1 �����`	 ����

�� 
�b��
���� 	��� WK� `�����` ��
� �� ��`��`�� DIP b`���	�����3 W� ��`	�2

`�� ����� 
�����
`�b�1 �� `

	��� ` ��`
����2a`��� WK� ����b��� �� 
�`����

��� ��	`���� ��`�2(�	� ��������� ����b�	� `� ��� ��
 `
��3 W�� ��
� ���� �����

�� ��

��� ������ `�����` �����`�b��1 �� ��b�		��� `����
��� ���� ��
���b`	

b`	b�	`�����3 D� �����`�b�1 ��� ��
� 
������ ` ����2��	� ��`�2(�	� ���������

���`�b�
��� `� ��� ��
 `
�� `� b�

`��� �� ��
� �� ` 	����� ��`� �� ��
�b`	

�� DIP1 ���	� ��� ��
���b`	 ��
�	`����� 
����b� �����`�� ��`�2(�	� ���������

���`�b�
��� �`b���� �� �
 �� 65

7
��	`���� �� ��� ��b����� (�	�3 R�� �`���b`	�

WK�2�����`�� ��`�2(�	� 
��a�� 
��
��� ������� ������ `

	�b`�����1 ��b	�����

�b`�������2��
� WK� ��`�2(�	� 
�b���b�
� ���� ���`�b�� �����������1 �`���b`	�

���	���`� WK� �
`���� �� �`���b`	� b�����	 `�� 
`��
�	`���� �� 
`���� ��2

��� �	��`2������ `�� �	��`����� WK� 
�	��� ^6961 6<>�6=7_3 Z� �������� ����

�������� (�	� ���`�b�
��� a� ������� ����b��� ��� ��
 `
�� ��`
���� ���


b������	� :5 �
 �� ��		 a�	�� 65 �
3

;;



� 0
��
��1
��
� ��� �	1�� 3�
�
1�� ��

	1��
�1� 2��
�1
��� �
 &- 
1
��3���


�13��
� � 
	 ��1��1� 
��������


6
 � ?:;9� G 
�G
���G������ GII��G�� �
�����G
��
� �� �	G�� I�
��G�� ��� 

	G���
 G� 	G����G�� H��
�G����� G
� ���� ��G��G� ���������
 �� G ��������
���

�
�������� ����G�
! 6
 ���� I�G���� �� �
�����I� ��� �����"��G� ��G� �� G I�	 

	��I�G� �G�� ���� ����� �511� G� G 	��� ����GH�� ���� �G	��� ��� ��
�G	�
�G�
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�
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� ��		����I ��
� ������� ���
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Vb`�������2��
� �b`����� Q�`�2(�	� R
��b`	 P�b���b�
� .�2VQRP/ ^79_ �� `

�b`����� 
��a� ��b������ ��� ����a	�1 ����`���1 `�� ���`����� �
`���� `�� �
�b2

����b�
� ���� �`���b`	� �
`��`	 ����	�����3 L� �`� 
����� 	`��� `

	�b`���� 
�2

�����`	 �`����� ���
 
`����`	� b�`�`b�����`���� ^9<1 6=8_ �� a���b���b�� ^961 9:_3

L� �2VQRP1 ` ��		2
��`	 �� 
��`	2b�`��� D��
�b I��b� P�b���b�
� .DIP/ ��


�� �		�
��`��� ���� 
2
�	`����� 	����3 W�� ��
 `b�� `� `� `�����` `�� b��b��2

��`��� ��� �		�
��`���� `� ��� `
�� �� ` ��`�2(�	� �
�� �� ��� �b`	� �� ��� `
��

;<



�`����3 Z��� a������ ���� b	��� 
����
��� �� ` �`

	�1 ��� ��`� (�	�� �����2

`b� ���� ��� �`

	� `�� 
����� ��� ��
2�b`������ (�	� ^667_3 E� ��b������ ���

��
2�b`������ (�	� ���	� �b`����� ��� �`

	�1 ` ��`�2(�	� �
`�� �� �a�`����3
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���`b��� 1/
√
ε′ �� ��3 .;37/3 W��� a	������ b`� `	�� a�

���� �� I����� ;38`1 ������� ��� JL2IWLU .��� b����/ `�� IWLU .a	`b� b����/

�
�b��` �� SPPD b`	b�	`��� `bb������ �� H��3 .;3>/ `�� .;37/1 ���
�b����	�3

����� "�(
����� ���*�
( �� ���
(����
 (
� ���*� �
�(
�*

��	�

I�� ` ��������b`	 `�`	���� �� ��� �`��2IWLU �
�b��`1 �� ���b��a� ��� ��
2

�b`������ (�	� `bb������ �� ���`a	����� �2VQRP 
���	� ��� ���2�����`�� ��
�

^791 67:_3 W�� ��b����� (�	� Einc �		�
��`��� ��� ��
 ����b�	� `�� ��` ��� ��2

)�b���� r ���
 ��� �`

	� ����`b� .�		����`��� �� I��3 ;39/3 W�� ���`	 (�	�

�		�
��`���� ��� ��
1 (1 + r)Einc1 
�	`����� ��� ��
 `�� ����b�� ` ��
�	� 
�2


��� p ∝ (1 + r)Einc1 ���b� a� ��b�
��b���1 �`��`��� a`b� ���� ��� �`� (�	�

����b�	� `�� ��` ��� ��)�b����1 ���	���� ��� �b`������ (�	� Esca ∝ (1 + r)2Einc3

L� b	��� 
����
��� �� ��� �`

	�1 ��� 
�	`����� ��
 �����`b�� ���� ��� �`

	�

��` ��� ��`� (�	�� 	�b`	���� `� ��� ��
 `
��3 W��� �����`b���� b`� a� ���b��a��

`� `� ��(���� ������ �� ��`�2(�	� +��)�b�����+ a������ ��
 `�� �`

	� ^6871 75>_

.�		����`��� �� I��3 ;39/1 ����� ��� ��)�b���� `� ��� �`

	� ����`b� �� ����� a�

` ��`��2��`��b ��`�2(�	� ��)�b���� b��*b���� β3 O�
����� �����	��� �� ` ����	�

��`�2(�	� ��)�b���� ���
 ��� �`

	�1 �� b`� ���b��a� ��� ��
���	`��� ��`�2

(�	� ����`	 a� sne
iϕn ∝ Esca,n ∝ β(1 + r)2Einc + O(β2)3 D� ��� �
��b`		� ����

(	
� r ≈ rsub ^99_1 ��� ���
`	��`���� �� ��� �b`������� ���
 ��� ��a���`�� ���	��

��� ��`�2(�	� b����`��

η3(ω) ≈
β(ω)

βsub

. .;365/

I�� ` (	
 �� ` ��a���`��1 β �� ����� a� ` ��`��2��`��b ������� �� ��3 .;38/ ^67=_

β =
β12 + β23e

−2qd

1 + β12β23e−2qd
.;366/

=>



tip 

12

23

ε1

ε1

ε1

r

EscaEin

Ein

r12

r23

p

I����� ;39? L		����`���� �� ��� �`�2(�	� �		�
��`���� �� ��� ��
1 `�� �� ��� ��`�2

(�	� �����`b����4�b`������� a������ ��� ��
 `�� ��� �`

	�3

���� βij = (εj − εi)/(εj + εi) `�� q ��
��������� ��� ��2
	`�� 
�
����
 ��

��� �`��� �b`������ a� ��� ��
3 Z��	� �� 
���b�
	� ��� ��
 �����`��� ` ����

�
�b���
 �� 
�
���` q1 ��� 
`�� b�����a����� �� ��� �b`������� �� �����
����

a� ��� ��
 �`���� Rt? q ∼ 1/Rt � 1/λ ^67=_3 W���1 ��� ��`�2(�	� 
�`����
����

b`� a� `�`	���� ������� �������� ������`����3 L� ��� ��		�����1 ��� ��� 	�
�����

b`��� �� `� �	��`2���� `�� ���b� ���`��b (	
 �� ` ��a���`�� `�� ���b�����3

I�� `� �	��`2���� (	
1 d � Rt1 �� ` ��a���`��1 �� (�� qd ∼ d/Rt � 13 Z�

���� b`� `

����
`�� β �� ��3 .;366/ a� ��� W`�	�� ��
`����� �� qd ���b� ���	��

��� ��`��2��`��b `�`	���� �� ��� �`�2(�	� ��)�b���� b��*b���� �� ��3 .;39/?

β =
β12 + β23

1 + β12β23

+ 2qd
β23(1− β2

12)

1 + β12β23

+O (qd)2 .;367/

Q��	�b���� ��
`����� ������ 	`���� ��`� ��� `�� ����� ��3 .;365/ �� �a�`��

��� ��`�2(�	� b����`��

η3 = 1− 2qd
1− β2

12

1 + β12β23

β23

β12β23

.;368/

I�� ����	� ��)�b���� ��a���`��� ���� β23 ≈ 1 .�3�3 D� �� V�/1 �� b`� ��

	���

��� ��`�2(�	� b����`�� η3 �� ��3 .;365/ ��

η3 ≈ 1− 2qd
1− β2

12

(1− β2
12)

= 1− 2qd
1− β

1 + β
= 1− 2qd/ε. .;369/

E� ���	�b���� ε′′ �� ��� ����
��`��� �� ��3 .;36:/ `�� `

����
`�� arctan(x) ≈
x ��� x � 1 �� ��� �����`���� �� ϕ31 �� (�� ��� ��� ��`�2(�	� `a���
���� a3
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`�� 
�`�� ϕ3?

a3 ≈ ϕ3 ≈ 2qd
1

ε′2
ε′′. .;36:/

F�

`���� ��3 .;36:/ ���� ��� JL2IWLU ����`	 �� ��3 .;3>/1 �� ��� ��`� `
`��

���
 ��� 
��2�`b���� ��� ��
�������� `�� �����`		� ������b`	3 W��� ����	� ��
	`���

��� ���� ��
���
���`	 `����
��� a������ ��� ��`�2(�	� `a���
����1 ��`�2(�	�


�`��1 `�� JL2IWLU �
�b��` �� ��� �������� SPPD (	
 �� I����� ;373 Q���

��`� `� `�������`	 	���`� �������b�2��
�����b� �� ��� �`b��� 1/λ ∝ ω �� ��3

.;3>/ �� �� �� �����(b`�� ��)���b� ��� �� ��� ��
�b`		� �
`		 ����� �� 
�	�b�	`�

�
�b��`	 ��`�����3 Z� b����a��`�� ��� `�`	���� a� b`	b�	`���� ��� ��`�2(�	�

`a���
���� a3 = Im(η3) `�� 
�`�� ϕ3 �
�b��` �� SPPD `bb������ �� ��3

.;36:/ .��� I��3 ;38a/3 W�� ����	�� ���� `� ��b�		��� `����
��� �� ��� �`��2

IWLU 
�`� 
�������� ���� ��� 
�`� 
������� �� ��� JL2IWLU �
�b���
 .���

b����1 I��3 ;38`/3 Z� ��
	`�� ���� `����
��� a� ��� ��
�	`���� �� ��� 
��a���


�b�`���
�3 L� JL2IWLU1 ��� 
��a��� �	�b���b (�	� ��
�����b�� ��)�b���� `�

��� (	
 ����`b� `�� ��� ��a���`��1 `� ��		 `� `a���
���� �� ��� (	
 .��)�b����2

`a���
���� 
�`����
���� ^:_/3 W�� �`
� ��)�b���� `�� `a���
���� 
��b�����

�bb�� ��� ��� ��`� (�	�� ���� ��� (	
 �� ������� ��`� ��� ��`�2(�	� ��b`�

	����� .b�

`�� H��3 .;38/ `�� .;366//3

W�� ����� 	�
����� b`�� �� ` ���b� (	
1 d � Rt1 ���b� qd ∼ d/Rt � 1 .������

���		 d � λ/3 W��� ��� ��
������`	 �� ��3 .;366/ ����� �� ����1 exp(−2qd) → 01

β .��3 .;366// ����b�� ��

β � β12 =
ε− 1

ε+ 1
. .;36;/

K��b�1 �� ��b���� ��� ��`�2(�	� `a���
���� ��
����� �� ����3 ^97_ `�� ^99_

a3 = Im(η3) ∝ Im(β12) �
2

(ε′ + 1)2
ε′′ .;36</

H�`	�`���� ��3 .;36</ ��� SPPD1 �� �a����� ` �������� �� ��� ��`�2(�	� `a2

���
���� 
�`� .����� �`���� b����1 I��3 ;38b/ b�

`��� �� ��� JL2IWLU .���

b����1 I��3 ;38`/ `�� ��`�2(�	� 
�`�� .a	�� b����1 I��3 ;38b/ �
�b��`3 W��

�	���� a	��2����� b�

`��� �� ��� �`�2(�	� `a���a`�b� �
�b���
 �� κω .��3

.;37/1 a	`b� b����1 I��3 ;38`/ �`������ b�

	���	� ���� ��� ������ ����� ���
�

���	�b��� �� ��3 .;365/ `�� b���������1 �3�31 ���� ��� ��`�2(�	� b����`�� ��

b`	b�	`��� `bb������ �� ��� I����� G�
�	� P���	 ^67:_ .����� b����1 I��3 ;38b/3

Z� ���� b��(�
 ��� ��
���
���`		� �a������ ���� 
`�b� a������ ��� ��`�2
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 �� +(( ��	 ���1��


���� V�
a�	� `�� ��� 
�`����� 
�������� �� ��� ��`�2(�	� 
�`��

ϕ3 .a	�� ����/1 ��`�2(�	� `a���
���� a3 .����� ����/1 JL2IWLU .���

b����/1 `�� ��`��
������ IWLU .a	`b� b����/ �
�b��`3 V�	�� 	����

`�� ��� b`	b�	`��� 
�`� 
�������� ����� ��� IGP2a`��� 
���	 a�

K`��� �� `	3 ^67=_ ���� 
���	 
`�`
����� `� �� I����� ;383

(�	� `a���
���� a3 `�� ��� IWLU �
�b���
3 L� b`� a� ���������� a� ��� �`b�

��`� a��� ��`��
������ IWLU `�� �`��2IWLU `a���
���� �� ���b� (	
� `��

��
��`��� a� `a���
���� �� ��� (	
1 ���� �� �����(b`�� �`�2(�	�1 ���
�b����	�1

��`�2(�	�1 ��)�b���� `� ��� ��a���`��3

I�� ��� ��`�2(�	� 
�`�� �� ���b� ���`��b (	
�1 �� �a�`��

ϕ3 = arg(η3) ≈ Im(β) ≈ 2

ε′2 − 1
ε′′. .;36=/

W�� �
�b���
 �� ϕ3(ω)1 b`	b�	`��� ��� SPPD `bb������ �� .;36=/ .a	�� b����1

I��3 ;38b/1 �� a	��2������� a� `a��� 7 b


−1
a�� b�

`�`a	� �� ��� JL2IWLU

�
�b���
 .��� b����1 I��3 ;38`/1 b��(�
��� ��� �a����`����� �� I����� ;373

I�� �����
���`�� (	
 ���b�������1 ��� ��`�2(�	� ���
���� �� �����
���� a�

��� �����
	`� a������ ��� ���b� `�� ��� �	��`2���� (	
 ����
�� ��
������ ��

��� �`	�� qd ∼ d/Rt .��3 .;366//1 ������ ���� �� ���b�����2��
������ 
�`�

������3 W� ������ ��� ������ �a������ �� I����� ;371 �� b`	b�	`��� ��� 
�`�


�������� �� �`��2IWLU `a���
���� `�� 
�`�� �
�b��` a`��� �� ` 
��� ��������

��`��2`�`	���b`	 �2VQRP 
���	 ��� 	`����� �`

	�� ^67=_3 W�� b`	b�	`��� 
�`�


������� ��� �`��2IWLU `a���
���� .����� b����1 I��3 ;3:/ ���b�	� ���������

���� ��b��`���� (	
 ���b����� d1 ���	� ��� 
�`�� 
�`� 
������� .a	�� b����1 I��3

;3:/ ��`�� ��`�	� b����`��3 E��� �a����`����� `�� �� ���� `����
��� ���� ���

��
���
���`	 ����	�� .����� `�� a	�� ����1 I��3 ;3:/3 W�� �����
`��b a	�������

�� ��� b`	b�	`���� b�

`��� �� ��� ��
���
��� �� `����a���� �� ��'����b�� ��
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��� 
��
�������� �� SPPD ���� �� ��
���
���� .9>: �G` 
�	�b�	`� ������/

`�� �� b`	b�	`����� .>:5 �G`/3

Q��� ��`� ��� ����	�� `�� `�`	���� `�� �`	�� ��	� ��� ����	� ��)�b���� ��a2

���`��� ��
�b`		� �

	���� �� �`��2IWLU3 F`	b�	`����� ��� ��`�	� ��)�b����

��a���`��� .��� 
�������� ����/ ����b`�� ��`� ��� (	
 ���b�����2��	`��� a��`�2

��� �� �`��2IWLU `a���
���� `�� 
�`�� �
�b��` �������`		� �������3 W�`� ��1

��� �`��2IWLU `a���
���� 
�`� 
������� ��`�� `	
��� b����`�� ���� ���b�����

`�� 
`�b��� ��		 ��� ��`��
������ IWLU3 R� ��� ����� �`��1 ��� 
�`� 
���2

���� �� ��� 
�`�� �
�b���
 �� ���b�����2��
������? ��� ���� (	
�1 �� 
`�b���

��� ��`��
������ IWLU �
�b���
1 ���	� ��� ���b��� (	
� �� ������ ���`��� ���

JL2IWLU �
�b���
3

��� (���+�� +	� -
	-��
�
	

L� ��

`��1 �� ������� ��� 
�`� 
�������� �� ��`�2(�	� 
�`�� ϕn `�� ��`�2

(�	� `a���
���� an �
�b��` �� ���� ���`��b (	
�1 a��� ��`������� ��	`��� ��

��� `a���
���� �� 
�	�b�	`� �`

	��3 Z� ����� ��`� ��� �
�b��`	 
������� ��

��� ��`�2(�	� 
�`�� �� ��`�	� b����`�� ���� �`����� (	
 ���b�����1 ���	� a����

a	��������� a� ` ��� �`����
a��� b�

`��� �� JL2IWLU �
�b��`3 Z��� `

�
`		 ����� �� �� �� 
`��� �

���`�b�1 ��`�2(�	� 
�`�� �
�b��` 
��
��� 
`2

����`	 ������(b`���� �� ` �`

	� �� ������� �� �`����� ���b����� .����/3 W��


�`� 
�������� �� ��`�2(�	� `a���
���� �
�b��` ���� ����� �� `���� ��		 ����

��`� �� JL2IWLU `�� IWLU �
�b��` ��� �	��`2���� `�� ���b� (	
�1 ���
�b����	�1

`		����� ��� ` ����b� b�

`�����3 Z��� ��� �`

	� ���b����� �� �����
���`��

�� �������1 `�� ` ����	� `bb��`�� 
�`����
��� �� `� `a���
���� ��`���� ��

��������1 
���	��� �� ��b���`�� �� ����`b� ��� `a���
���� b��*b���� κ1 ���b�

b`� a� ����b�	� b�

`��� ���� IWLU `a���a`�b� �
�b��` ^687_3 Q��� ��`� ���

����	�� `�� �����	���� `	�� `

	� ��� ����� `

	�����2 `�� 
�`��2����	��� �2

VQRP2a`��� �
�b����b�
�b ��b�������1 ���b�1 ��� ��`

	�1 �

	�� ���`a	�

	`��� ����b��3
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��1� 
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��

�1	��� �� 	�
����� ,

W� ������ ��� I����� G�
�	� P���	 �� 	`����� �`

	�1 `� �������b�� �� V�b����

83:381 ��� 
������`	 ���
���� Φ �� ` 
���
�	� b�`��� Q `� ����`�b� z0 `a���

` a�	� �`

	� ���� ` ��
 	`��� �� ���b����� � ����� �� a� b`	b�	`���3 W���

b`� a� `b������ a� ��	���� ��� a����`�� b��������� ��� ��� ���`	 
������`	

U `�� ��� �����`���� 
��
����b�	`� �� ��� ������`b� ^67=1 68:_3 F������� ���

�
`��`	 b������`�� z 
��
����b�	`� �� ��� �`

	� ����`b�1 ��� 
������`	 `a���

��� �`

	� �� b�	�����b`	 b������`��� (r, θ, z) �� ����� a� ^68:_

U = − Q

4πε0

(
1√

r2 + z2
+ Φ

)
.D36/

����

Φ =

∫ ∞

0

A(k)ekzJ0(kr)dk, .D37/

A(k) = e−2kz0
β12 + β23e

−2kd

1− β12β23e−2kd
. .D38/

J0 �� ��� ������ ����� E����	 ���b���� �� (��� ����1 ε0 ��� �`b��
 
��
�����2

���1 εi ���� i = 1, 2, 3 ��� ���	�b���b 
��
���������� �� `��1 	`���1 `�� �`

	�1

���
�b����	�3 d �� ��� ���b����� �� ��� 	`��� `�� βij ��� ��`��2��`��b ��)�b����

b��*b���� `� ������`b� ��?

βij =
εi − εj
εi + εj

. .D39/
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